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Physics
1. Hygen's wave theary of hight caninut vxplain T Thie  slectiag i
3 pRCIDEECITC #iioc » . D phere erensios wil | TErtugilev=
HT IR
2. A truck 15 moving eastwards with o velo
of 15 mvs In 10 8, the velomty changes w
15 ny's northwards. lts average neeolery
during thiz ttme will be B in an AC etreaw, the potential dillin
& . AT Y AN HMUTSS 151 tilpetance (AL & Tl
Bl «2 mis Annmaards ceiftectedd ot sgernes i \ i " %
Ly TwiEngs resper vl Futa LRI C TARY itidTany
17 M g audve deross the cireul wh
3. A body shding on a smooth inchined plune
réequires 4+ & to reach the bottom starting
from rest at the top. Then the nime takaes Q. it ware of resi<tnee i e biinhe
travel one eight the distance starting resi at tt= length, then th W La s
the top, will be
&l i T s g - 1u. Atonnd number ol mcicu & & wiud
4, Energy of simple harmome moton depends mnas aumber = 3, what will e numbery o}
(77 51 el rons i nuclkiu
v 4 11, The nuchw T LERE YT R AT
5 If the potential of 0 capaciter Moy reactur 18 waerd Lo
capacity GuF ig tnereased from 10V 20V
then increase 10 IS energy 1=
REFTEHI 12 11 the phase differonce Between twe g
4 5= 10 e : LI -,n-:ri gy R In wave of [rey
A Hr 1505 2 then the vedlocity o 1

€. A bullet of miass 0.1 kg i+ hieed with o speed
of 100 mis, The mass of gun being 50 ky
Then the '.'l.*'ll,'-t,'l".} ol rerot] become

= WY llllll h‘\
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13,

14.

15.

16

17.

18.

18.

20.

A 12 pF capacitor {5 connected to a 530V, The
electrostatic  energy 18 stored in  the
capacitor will be
@ 28x10"J ) 35«10 4

gy DS= 10" J 191 1.5=107

Cyelotron 15 a device which used to
(@ measuning the charge

{b] measurg of (he vollage

(] acceleration protons

(o acceleraton af aeclrons

The dimensions of patential difference are
(8) [MLIT3Q ") by (MUT*Q%)
{e) (LT o) (MELTD )

Light takes r, sec to travel a distance x em in
vacuum and the same light takes £ sec to
travel 10 x cm in the medium, critical angle
for the corresponding medium is

{a) sin”' 'Eﬁ} ib) -.:m"[ '__J
L7, 101,

i | I
i 8n [—-—

i 1.;}-
101, ]

{d} s | ——

If the eritieal angle for tetal internal
reflection from a medium to vacuum is 30°,

then the velocity of light in the medium will
be

ja) 3% 10° mis (by 2 = 10° mis

(cl 1.5=10° m/s id} &= 107 mie

Which one of the following discovered
eyclotron”

{a) Maswsll (bl Lawrence

(e} Leveis () Bahr

A gas mtially at 18°C is compressed

adiabavically to one eight of s engnal
volume, Then the temperature of the gas
after comprezsion s

{a) 3B54°C () 144+
fc) 887 4°C [y 18C
A stone 1= dropped into a lake from a tower of

a00 m height. The sound of splash wall he
heard after
@ 1158 (o) 213

il 375 Q) s

21

22

23,

24,

25.

26,

27.

28,

An aeroplane having a wing space of 35 m
files due to north with the speed of 90 ms
given B 15 4x10" T. The potential
difference between the tips of the wings wall
be

g O3V
(e} 126V

o} 126V
d) 126V

A radwactive element has halflife of
3.6 days. In what ome will it be left 1/32™
undecayved?
2 4 days
izl 18 days

(0 12 days
(@) 24 days

The wavelength asscciated with an electron
aceelerated through a potenual difference of
100V 15 of the order of

@y 124

100A 0 1000A

The thermodynamic eoordinates of a jur A
filled with a gas are p, V and 7" and anothey
Jar Biilled with another gas2p, V/4 and 2T,
where the syvmbols have their usual
mesnings, The rauo of the number of
mulecules of jar A to those of jar B is

@l 4 1 D) 2 2 c) v o2 g 11

D) IR (e

When the kinetic energy of a body executing
SHM 15 I3 of the potental energy, The
displacement of the body is x per cent of the
amplitude, where x is
&) 33 n! B7 el &7 (al 50

In the case af horse 13 pulling a cart. [orve
that causes the horse to move forward 15 the
force that

{al the horse exerns on the ground

(b} the horse exerts on the carnt

2] @ ground exarts on the horge

o e can exerls on the horse

If the pressure of a gas contained 1n  vessel
15 increased by 0.4%. When heated through
1°C, the imitial temperature had been

@ 2500 K (b} 280K (gl 250'C  (d) 25°C
The capacitance of a spherical conductor
with rodius 1 m is

a B 0*F by 1

- ot -
c) 25x 1 r o

CHRISTIAN MEDICAL
COLLEGE VELLORE



29,

30

3

3z

33

35

. A diomic  gas

CHRISTIAN MEDICAL
COLLEGE VELLORE

CMC Vellore (Medical) « Solved Paper 2013 3

Which of the following have higher specific
charge?
(a) Pogitron
ic) He

(b Promon
id) Mors of These

For an encloses mantained at 1000 K, the
maximum radiation oceurs at wavelength
A .- If the temperature is raised to 2000 K,
the peak will shift to

al -}'? (bl 24 Gt 27w di @7 ka

A coil of area 5 em” and of 20 turns is placed
in uniform magnetic field of 10° T The
normal to the plane of the coil mokes an
angle of 80° with the magnetic field. The flux
in Maxwell through the coil 15

(a) &= 10° (B 3= 19

lc) 2 = 10°

{cdt 5w tlr

An electron jumps from the 4" orbits tu the
2nd orbit of hydrogen atom. Guven the
Rydberg's constant R=10"¢m ', the
frequency in Hz of the emitted radiation will
be

3 i
@) = =10 ity
g

(e} 9116 = 10 (dl 34« 10"

The Kepler's secord law states that the
straight line Joining the planet W the sun
sweeps oul equal areas in equal tumes. The
statement is equivalent to saving thal

(8) ota ACCaierauin s Zeic

) Yansverse acoelanalion s zer

{c] longuusingl acceleraudn & 2rg

() ragia scoeleranon s e

15 heated nat  constant
pressure, What fraction of the heat energy 1=
used to inereases the internal energy?
fal 3 (3]} E [af] _ ot 549
5 7
In interference pattern the energy 18
(a) crealed at fhe masmam
O chesirowet! al (he mnamun
(o conserved tul redisinbules
i & ol ina abowe

36,

.

38.

39,

40.

41.

42.

43

A lens behaves as a converging lens in air
and diverging lens i water. The refractive
index of the material of the lens is

& egual 1o thiat o whles

o @85t
(C) greates than thal of waner
(g} Notung can e predicied

ruan fNal of wale

The electron emitted in beta radiation
orginates from

gy et crs of atams
0] fres Sron exEhitg N Ausliug
dezay ol rdutean n the nutieus

(et pnion ascamn [fom ne e s

[f elements with principal guantum number
n >4 were not allowed in nature than the
number of posasible elements would be

'l

o B0 L
The square of resultant of two egual forees
15 three times their product. Angle between
the forces 13

g " Bl 732 & m/d a m'a

Which of the following is dufferent frum
nthers”

d@ Wavedagih

b wesact

() Ampiile

A capicitor of capacitance O has charge ¢
and stored energy 1= W I the charge 15
inereased to 27, the stored energy will he

; iy W MY I AW

A cvlindrcal conductor 15 placed near
another positively charged conductor the
net charge acguired by the cyvlindrical
conductor will be
& prsdes on)
(B} negelve only

2,

il Evnar posite of negaine

A point moves such that s displacement az
function of time 15 gven by 27 — % + L Iy
aceeleration at time ! 1s

{ - — (L
i e ¥ ’ ¥
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44,

47

48,

49,

50

-

§1.

If the speed of light wave f of 1ts present

value, the energy released 1n a ven atomic
explosion will be decreased by a fraction

(al 2 (o) &9 fc] 59 @ 249

Aleohol is more volatile than water, because
2) s Doihng point 15 IGwer nan wata
by s & arganic Ygud

{C) 15 reeding pont 15 lower nan water

(d} s vapour pressure s 25 umes greatar 1har
water

- A budy has same temperature as that of the

surrounding, then

fal f raaes same heat as (| absoine
(o) it abSorbs mare, radiatas ess hea!
i) 1t radiaies more. absorDs tess feat
[N 1t never raciates neat

In a transistor configuration [} parameter 15
(al {.4¢ iy |
{9 S i !

The ratio of forward biased to reverse biased
resistance for p-n junction diode is

(@l 107" 1 o) 10°% 1

(e} 107 1 iy 1ot

A water film 15 made between two 10 em long
straight wire and at a distance of 0.5 cm. 1f
distance between the wire 15 inereased by
1 mm. Then work done will be

{a) 922 x 1077 2 by 144 %10 .

i) 288x 10 g 576=10" J

A capacitor of 20 uF capacity charged upto
§00 V 18 connected in parallel with another
capaciter of 10 uF which is charged upto
200 V. Their common potential s

[a) 500V (b 400N o) 300V (o) 200V

What will happen when a 40 W, 220 V lamp
and 100 W, 220 V lamp are connected in
series across 40 V supply?

(&) 100 W lamg will lusa

(b} 40 W lamp will luse

ic) Both lamps will tuse

{d) Nenher lamp wall fuse

52.

53.

535.

56.

57.

The displacement of a particle of mass 3 g
executing simple harmonic maotion is given
By ¥ =3 mn (0.2 in 81 units. The kineue
energy of the particle at a points which s at

a distance equal to 3 of 1ts amplitude from

13 mean position 15
a2 =10° J s

048=10™ J ) 024 =10 J

The radius of gyration of a rod of length L
and mass M about an axis perpendicular to
its length and passing through a point at »
distance L/3 from one if its ends 15

= Ik . 2
g =Ly = ey = () X2
] 3 “

. The apparent weight of 4 person inside a Lift

15 w, when Lift moves up with & certain
aeceleration and 18 1y when Lift moves down
with same aceeleration, The weight of the
person when hft moves up with constant

spoid 12
(Bl BT R B SR 10 [3) 2w
2 z
The magnitude of magnetic induetion for a
current  carrying  tervid  of  umform

eross-section 18

fa) uriiormm ower the wnoie Cross-sechinn
2 AEmmLm on e outer edge

(€} maximyurn an the outer edge

|3 maximum at the centre of Cross-Sectnn

Isogonic lines are these for which
lal Qecinatan 5 the same at Jl! placas o0 the ing
12} angle of gip is the sarme a1 all piace on the Ine
€ The «83iu= of bonramia!l component of garth
magnetc heio 15 he 5ame

Q) Al ot Ine above
Each atom of an iron bar
i3em = lem = Lem) has a magnetic moment
1.8 » 107* Am ™ that the density of tron is
718 « 107 kg/m®, atomic weight is 66 and
Avogadro number is  6.02x 107" The
magnetc mement of bar 12 the state of
magnetc saturation will be

475 Alm

& A
T4 4

o) 574 &m

i 754 Am

3
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A current of 1A 18 flowing on the sides of an
equilateral triangle of sides 4.5« 107 m.
The magnetic field at the centrmd of the
triangle is

8) 2=107T

[e) B= Q=T

B ax 10T

iy 12«07 T

. If the eguation of transverse wave is

y=6sin 2 I f@} where distance is in

la} SO, CO,

i) GO, CO,

fel SG; KO

gl 30. NO.

Amongst the following anihistamines,
which are antacids?

L. Ramtidme 1, Cimetidine 111 Terfenadine
IV. Bromphemramine

(@ 1 and il (o
(& 1 anc il {di tand IV

[{f= "%

Which of the following polymers cannot
have vinylic monomer units?

(&) Acrilar {} Palystyrene
[€) Mayhon [ Telion
Optical rotations of some compounds along

with their structures are given below, Which
of them have D- configuration?

CHO CHO
|
H OH e ——
CH,OH Oon :]r"_‘ H
o H OH
[+ ratation B '—1 oH
CH,0H
(i
[+ iotation

em and tume in second and then the
wavelength of the wave 18

aj 60 cm ) 40 cm

[ci 35¢m [d) 25 ¢cm

- A 700 pF capacitor is charged by a 60 V

battery The electrostatic energy stored by it
15

(g 1To=0* g o} 13.5=107" J

0.04 (e} 95 x10°% id) BT =107
Chemistry
. When benzene sulphonie  acid and CHOH
p-nitrophenol are treated with NaHCO,,. the |
gases released respectively are C=0

HO —H
HEL.DH
H r-— s}

CH,OH

[111}]
[=hratann

ark i b I
el N aj i

5. Due ta the presence of amhdentate higands

cooridination compounds show isomerism,
Palladium complexes of the type
[PA(C H, 1,(8CN1, ) and | Pd (C H; ) (NCS), |
are

(@) ikage shMmengm

b) coorginalion somensm

(G} ionisation iIsomernsm

(& gaormetncal isarmedsm

6. Amongst the following, the most stable

complex s
i) [FelH.On T

S 3
(€] {FelC 0,01

[} [FamHﬁ;E]"'
1) [FeCi, 1"

7. In a 0.010M solution of oxalic acd, H,C,0,,

}f] =59 x 1078, K, =64x 107", the species
present in the lowest coneontration s

at "'I_.(.: o (e H.:G'

e "'1:':.:}4 Q) C_D:
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B. K. for HF 1535 = 10 caleulate K, for the

10,

11

fluoride 1on
fal Isx1o0t i) 10 16

{y 285107 ) 10x10

+ A face centred cubic lattice 15 made up of two

12,

13.

wpes of atoms A and B, 1n which A occupies
the corner positions and 8 cceupies the face
centres. I atom along an axis joining the
diagonally opposite corners on a face are
removed, the empinical formula of the
vemaining solid would be

(al -'-_-E‘: B =5

At
A6 dl AR

1%

The normal oxidation patential of zine
referred to the standard hvdrogen electrode
15 0.76V and that of coppor 18 0.34V a 25°C,
when excess of zine 18 added to solution of
copper sulphate, zine displaces copper ull
equilthrigm is reached. What s the ratie of
concentration  to A o Cu'

tons  ar
equilibrium?®
(@l fo8xt0 (k) 128310
el 1 187810 d) 1124243

For the lollowing metals A, B . D react
with each other tN. R.= no reaction)

A+8 NR B
B+ -8 -0 L=
e i i

i
-y =

i P

] - %

(%

What 15 the order of the metals in increasing
reducing strength”
1) B+ Der il
GIA«D=Bef

= e
(DB icH

di D= B

F

Suppose that the electron spin guanium
number could have three possible values
which of the following atomic numbers
would not correspond to a noble gas?

(@) 3 fo} 15 fc) &7 @] 42
Caleulate the number of vevolutions per
second made around the nucleus by an
electron in the third Bohr's orbit of a
hvdrogen atom

ja) 2 dsx 0™ 1+

(c12 43« 10"

[ 243« 10

14.

15.

16.

17

18.

19

Which of the following regarding decav of
Al*" is not true?

fal I may Secay Dy Dosihion rmissinn

Bl may Sacay Dy a neulron anissn

Gl It may dacay oy eleclron capture

i) The mroduct nucieus 1s Mg

2.0 g of benzoic and dissolved in 25.0g of
benzene shows a depression in freezing
point equal to 1.62 K. Molal depression
constant, K, of benzene 15 4.9 K kg mol ',
what 15 the percentage asszociation of the
acid 17 it forms dimer 10 the solution?

a0 TE2% (b) B2E% (o) 88 T% ) 992%

A gas X at 1 atm s bubbled through a
solution contaming a mixture of LM Y and
1 M Z wns at 25°C. If the reduetion
potential of Z>¥>X, then

7wl guglise Z ow ot g

o well Seichge ot r and g

g 2 it

30 ¥ will reCtuce both ¥ and 2
Conductivity of 000241 M acetic acid

solution 15 7806 <107° 8em ', what would be
its dissociation constant”?

3l 185« ¥ T vl $70 [
185 10 gl 2

The rate of a paseous reaction is gven by the
expression A[ANBL If the volume of the
reaction vessel is suddenly reduced to = th ol

the initial volume, the reaction rate refatng
to original rate will be

1

8
Consider the
Clyiag) ~ Hy8(ag)

. 4] e 8 fidh 6

reaction

S(s) = 2H (ag) + 2C1 tag)

The rate equation fur this reaction is . rate
= KCL, 1H,S]

Which of these mechamisms 15 consistent
with this rate equation?

A Cl,+HS — H +Cl" +C) +HS’

(zlow)

CHRISTIAN MEDICAL
COLLEGE VELLORE



20.

21.

22.
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Cl" +HS™ — H" +CI" + Sifasu

B. H,8 == H" +HS (fast equilibrium}):
Cl, +HS — 2C1" =H" + Sislow)

la) MNether 4 nor B i) A pnly

(c) B only {d) Both Aanc B

Which of the following phenomenon oceurs
when a chalk stick is dipped in the ink?

. absorption of solvent
I1. adsorption of coloured substance
I11. absorption and adsorption both of

solvent
IV, adsorption of solvent
(@l (and i (o] T st £
(e} Ml anky (g 1 Gy

PbO, + Pb — 2Ph0: A G <0
8n0), +8n — 28n0. 5,670

Which  oxdation  states
characteristic for lead and tin”?
iB] Forload <2 for fin =2

(B for leeg <2
(e} Forlead +2, for tin =2
id) Forlead +4 for jn =4

The structure of IF- is
(@) trgonal Bipyramid

fo} aetahadra

\C) penlagonal Dipyramig
id} square pyramid

are more

o BN =

23. The correct order of increasing bond angles

£9,

in the following species is

{a) CI0;<Ci0 <Ci0, (o) CI,0 <CO, « CIO

ic) Ci0,<C,0<CI0; (d) CL,O <CI0; <CIC;

in ¢ase O IANLRANIOES, wine

following statoments is not correet”

{8l Al the memntars sxhibt «<3omdalion stats

i) Because of simulnr propertes. the separation 2
IninanceCs 1§ 00T Basy

(e} Avarlabaty of &f sigctrions 'esuils n the farmaton
B! COMPOUNDS in 4 state for all the membears of
ne senes

{d] Thera & a Qradua cacrease m the ade of 'ne
memoers with (nCréating alomic rumbér » Thi
SENES

[P N T

CHRISTIAN MEDICAL
COLLEGE VELLORE
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25. The acidic. basic or amphoteric nature of

26.

27

28.

Mn, 0, V0, and CrQ) are respectively

(al amdc amphotenc. basc

(b) st aciht bask

\C) DasC amphotans anidic

(ch acidic, Dasic. basic

The correct order of increasing reactivity of

C-X bond twowards nuecleophile in the
following compounds is

X x
HMNEL
' [
&)
|
NO,

i iny
1CH|J’3C—X !CH.;'_{_ -‘H'—X
(Il v

e e o< i

(= TRELESS S |

ey e dhe e Iy

() i =mesliel

Alkyl hahdes undergoing nuecleophilie

molecular substitution involve

&) tormalion of carbocaion

(2] rAcRTHC mixiure

(C) wvegnn O Conhguralce

1) raention of ._ﬂ!'lf-glljfﬂ'l'fﬁ'-

o

Arrange these compounds in order

increasing S, 1 reaction rate

FH+ Br /T —J—ﬂ.r

iy {u i

ci

(v
a1 e ll=lll«|
o) lell=lliesi
1) W=t=dil=ni

(o eleh<ti
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29.

30

a.

CH,

(Hy—— Br + CH.CH,OH
|
CH,
CHETH 00
W B (rmwgor

Puszthle praducts can be
CH, CH,

CH LOCH,CH, CH,—C

UH CH,
1 §]
A and B ean be respectively

Congdor the Gdiowmg venetion |

r b b 'Q-g
%—&GF—"—. =

CH UM OH

32.

o

off w—

{;L?—CH— CH—CH,

R

Afpredominam), 4 s

A tmuagor!

& @‘CH'—FEH _CH:

oR

/_:\)- (CH — CH.(H,
T ow

HO) {.;,}—CH — CH —CH,

33. ldenuily a reagent from the following list
whieh can be eastly distinguish between
1-butane and 2-butvne

Wineh vcespinise containg all the corriet

statements aboit this process”

.'|.:"|.r.| WAl

15 Carian aesiatvn g anem

(I E. msgehmnsger

1V Mast siable canocalion i fgrme
had 1l

B 1IN

Tsd] nn

T |

Seheme [, Mg Ether DO

Seheme 11 Cadt. NaldD isoda lime)

Which « used o veplace Br by D

bromoevelohexane!

S valayst
=3 mgaliy

Ganp i ot A 0e TR WP 1 UT s g

34

H,C
»
)V i
T — A

m



35.

&

a7.

35,

40.

4.
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LR AL ALE

CHy==CHCHCH,CH.OH
|
OH
H)CH = CHTO T
10 CH. =CH=CHCH,CHO

T O

=
€] CH; = CHCQCH, O
[ CH. = CTHCOCH.CON-
(]

l H{OH

, NaNH, UH
CH,CCH,CoeCH —— % -

- —- 4

— A As

(8) CH,COCH.CH.CH S H
o) GH, CHZCOCH.CH L

151 CHCOCH O 0
) CHCOCHAG < LHCH
How vou
propanoie acid”
@) Tolen ¢ <apgan
(D) Fahling & goiubhon
el KaliH ', o

(68 Naldi . o

will convert  hutan-Z-one

. The smallesr ketone and 115 next homelogue

are rageted with NHL.OH o form oxime
() o ditteram gumes are tormed

{B) IRr@a dhftergnt Qumat and formed

g WO ommes are aphCaly achve

12 &l S ald Solicaly achhve

Which of the following has the highest value
ol energy gap”
@) Alurmosgrm [£3) Bty

e} Garmansin [ Diarong

x grams of watey 158 mixed i 68 g ethanol.
Mole facuon of ethanol in the resultant
golution 15 0.6 What = the valug of x n

grams
(@) 54 o 36 ol 18 1 4
Blood cells will remain as such in

(i yReartant aliuhibn
it e e
fE] sty i 8

id) MNane o ine aboe

42

43

45

46,

47

48

49,

50,

o Bengene dinzomwn  chloride on

Number of atoms of He in 100 u of He
tatormie weight of He = 4ulare

I 2 13 Ef
1

M e

74.5 g of 5 metallie chionde eontamms 353 5 g

of chlorme. the equivalent weight of the
metal is

Ak o 355
in i) T84

reickion
with phenal in weakly basie medium gives

B Ry Ethes
Lt GG DT
(HCT, - M H.NH, =3NaOH

— A -38 A
In the above reaction, the product A s

b al # 1LV T phamy socy s

1] pheny chigoe

Complete hvdrealvsis of cellulose gives
P M = T

L -k E

o R i) L= gluctae

Vitamin B, 15 known as
fbl fhiamimne

1 roatiave

A [ TIC0oan
[ Selali]

The drug (N i used as

b3
M C.-H_. - LM, —NH,
nE oy e Rz
SN JasITE b oarhsanhy

H,0 is dipolar, whereas BeF; iz not. It is
brerr it e

T

i Che SIRCIeAngtTy o € Oragdier Ihan gl of D
w71 e ERDGER SRRSUNs wheraal BeF, g
1 ot usCule

CiHAD 8 insar andd BaF, s anguiar
i 3 anguiar snd BeF . 5 linear

Among the following the paramagnetic
compournd 1=

N 1 40,
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51

52

-

53.

55.

Hydration of different 1ons i aqueous
solution is an example of

on mMouCed doid Marachcn

bl dipole-tipole interactiar

Sipoie-ncucen dipols mierachor

on=dipole nrerachon

L&

{c
()
Generally, IE, inereases along a perod But
there are some exceptions. One which 15 not
an exceplion 1s
(@) MangQ

{e} Mg ana Al

kia ana Mo

\‘.3: Beano B
The electron affinity values ( i kd mol | of
three halogens X, Y, £ are respectively -344,

-333and -325. Then X, ¥ and 2
respectively are

al F,Cl, and Br, () i, F; ara Br.

e} iy B, ard o Be, o anaF

According to the kinetic theory of gases. i
an ideal pgas, between iwo sSuceessive
collisions a gas molecule travels

. lndine 1 obtained from the members of

ia) green algae

o) brown algae

(€l reQ [GHE

|a1 biyg-graen aigae

57

58

longest wavelength required for
phatochemical decomposition of Oy
a) 126 nm () 175 Am

fei 190 nm (g} 20% nm

If ! = 3, what ean be said about n?
ta) n must be i2sa Inan 3

(b = Ml D agua 10 3

¢4 m miust be greater than 3

(i m must be egual 1o 4

Hylg) + 2NOg) == N,Oig) ~ H,Oig):
K =14x10a125°C

If the reaction mixture contains 0.05 M
Hy(g), 002 M NO {g). 54 M N,O (g and
5.7 MH,Oig) at some particular moment
intime then we accuarately predict that

a1 ™& ‘eachon 15 Jery close 10 egudiDium

o e racton s very lar 1o agquitlipnum

1 TE T@Acton |6 8t eguhDhum

1@ pain e H-(g) and NO (gl concentralion must

increase signihcantly 10 reach equilibnum

12) " a cuoular path B9. A conc. aq. solution of H,50, 15 B8% by mass

1) i & wavy pain and has a density of 1.78 gmL ' 50 mL of

ie} in A slaght ine path this solution 15 diluted to 1 L with water.

Id) with an agceterated velociy What is the H" ion concentration of the

Root mean sguare speed of Nalg) in mr 15 dilute solation in mol L7

515ms '. What 1s the average spead of He @ 015 (0] 051 1078 () 156

gas in the same air? 60. A certain process releases 64.0 kd of heat

ja) S36.8ms iz} B39 2ms which 12 transferred Lo the surroundings at

ic) 1248 Sms™ fef 12553 ms’ a copsiant  pressure and a constant
. Phatochemical dissociation produces « temperature of 300 K. For this process A5, .

normal oxygen atom and a oxygen atom is

2.5 eV more energetic than normal one. Also (' B40KJ i} G40 KJ

the average bond energy of Oy into normal € =213JK (@ 2134

oxvgen 1= 498 kJ mol' Determine the

Biology

2. If large quantities of domestic sewage are

continuously emptied into a small stream, it
leads to
Al aigal oioom
i) aulropmcation
(£} neréase in teamperature

CHRISTIAN MEDICAL
COLLEGE VELLORE
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. Which of the following planets 1s called

"twin of the carth”
(@) Mars
(e} Verus

ity Pluto

{ed) Marcury

In which one of following would vou except
to find glyoxvsomes?

(4} Endosperm uf wheat

{b) Endosperm al casior

{c} Paiisage cells in leal

() Root hair

. Vaccines prepeared through recombinant

DNA technology are called
i) Firsi generation vacones
(B} 2ng generation vaccine

(&l lird generation vaccine

{¢) None of above

. Continued exposure of vinyl chloride mav

cause cances of the
{ar Lover
6] Lymphons tissue

) WBCs
() Boieen

Miracidium larva occurs in the life history of
[@) roungwonm B) s Hyee
e} Sanfworm idl tapewarm

. Male Aszeariz i difforentiable from female

Ascaris i

fa) preserce of posi-angl papilise

(b} pregenge gf pre-anal papdliae

[c] prasence of pendal sétas

() All of tne apovi

Penetrant, valvent and glutinant are type of
fal nematocyel of Hydra

i} tentaties ol Hyora

e} zomds o Qbalg

id) tentacles of Obea

Which of the following enzvme 15 used in
PCR (Polymerase Chain Reaction)?

{a) Tag poymarase o} Vierr pobymerase

(o) Baoth (a) ana (o) (o) None of nese

A woman with straight hair marries with a
mun with curly hair and who 15 known o be
heterozygous for the wail, What is the
chance that thew first child will have curly
han?

12.

13

14

15.

16.

iT.

18.
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) O v g

dl O i fow

1@ Mo change
It & Cartan

Which of the following are required

minimum amount by human?

odme. carmon M Cu. O

adma, M Cu. In luanne

Ifen

{peiyl

(2
Iz
ocne, Mn Zn

Thuoine

nyaragan
gl NO,2
Which of the following nerve ol man 12 both
sensory and motor?
(& QHacion

(s GD’:".'

{o} Trigerenal

{a) Auchioey

Highest number of antibioties are produced
by

ar Bacnis

{e} Sheplomyces

(B3] Bamigitim

4l Grseofiun

Nurse t18sue technigue 15 applied in
18 poslen cutture [ embingg cyipe

S1 Ovule Gulirg I Ouagry culure

The reflectivity percentage of incident light
on earth is meterslogcally called as
fa) Bipedn oy T

WOBES
(e} Refracuon (g} Reradiaion

Eusthenopteron connects

ai repties and birds

DF Drgs @nd Mammaig

[shes and ampinians

Jl amiputeans ang rgplees

The numbers of stomata and epidermal cells
in | mm* leaf area of lower epiderms of
leaves of X, Y and Z plants are given below
Arrange the plants in decreasing order of
therr stomatal index.

No. of epidermal

Number of
Cell Stomata Cells
X _ﬁ-a':' = 1all
N B0 240
7 a0 40

The correct answey s
far xvZ bi Y Z
A

fcl &Y A&
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19. Which one of the following components of  28. How many number of reducing powers are

ecosyvstem comes {rom outside™ required te svnthesise onoe molecule of
1a) Enengy i) Choygan glveeraldehyvde phosphate?
(€] Insects iz Temparaie (@ 3 ATP ang 6 NADPH

20. The genome of Caenorhabrditie elgan B 3 ATE ang SHADPH

/AT ana 6 MADPH
(2 8 ATF ang 38 MADPH

consist of
n 3 oelhon bip (base paw and 3000 genes

12 mulecn o ar A0O0 geres 29. Who purposed the central dogma?

G & T rumgn oo and 4000 pares 8| Fransis Cncs b Wikiarm Kiag

(@ @7 miibgn bo and 13000 genss (2! Beades and Tatum al Walson and Cnck
21. Dermatogen, periblem and plercme are 30. Which  of the following disease s

() prrmanant Lsues MO CHNUETUUS

(o mensiemanc Us5ues 3 BP= 0] Heoanhs B s

(& miercalaty 15sues izl CGarpromeof iesis (01 Meiznoma

[ Gesondary LSS0 .

bl Rac il 31. Fragile X syndrome 15 characterised by

22. Winch one 15 viral digease in gilkworm? |3} eceseve Dleedng

i@ Flazhene o Maggpo nsease (0 solour Blindness

1S Muscarngine ) =R0rne nseases e paayss ol alemt
23. Which one 15 correct sequence of following ol mertn retardavon  @ng apbnormal  faca

events as per thﬂ”' di very” HOOSHIANEE Wi 3 Sars 8GN long tane

32, Where can we study mitosis?
al Brain 8l Legs
ol Nail bass (o} Kidney

I. Formulation of the chromosome theory of
inheritence.

[1. Experiments which proved that DNA s the

genetic mauterial 33. The twype of joints between the human

skull bones is called

1L Mendel's law of inherttance Al camiagnous o (o) hings it

d L ana il i and i

¢! fibeous i [d} synDwal gt
cr A i a ang i
_ ) 34, Somatostann 15 & hormone secreted by
24. Which of the following has more imbibition hypothalamus. It inhibits the excretion of
] ’
pnw'p-r Al thyroxine ol GH [Growth Homiona)
d f‘:!'ilﬂ‘“ o] YRR e C vESODrEssmn jdi ACTH
£} Far i Protem
35, Natural selection favours the leal butterfly
25. The structural and functional uni of the because it shows
striated musele fibre is called i Couriar ilacid
8] S&Qlermma iG] SarGo e G} Datagian mimiany
fe] s#icopiasm Q) myohyr cl migkienan memigry
26. The lossily vrecord of placoderms 1= found in d} protective resemirence
the eva 36. The porton of the endometrium that covers
‘al Mpsozoy bl Comnaand the embryo and is located between the
Arcraguioe o) Pelarczuc embryvo and ulerine cavity is the
27. An examples of gene silencing 18 (s dedua basals (B) Secoua umbilieus
(a) Brrower (b} bangemic 1icy C Oecdud capsuians  (d) decidud funchonaks

e} Flawr gave tomats 18] Irdivsganic maze



37!

38

40.

41,
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Duration of complete cardiac diastable 1=

fal 91 sec B O4sec

(G} U3 ses idi &5 zes

Which of the following s not the man
funetion of lymph glands,

{a) Basopn D) Neutropnn

€5 LymphoGyle id) Eomnopi

Which 15 not connected with ficory of
agening’

lar Wear ana tear (b Meurghormong

ic) Epmarphosis il Matwaboss (a1
Auxenc growth is sgen in

la) rolilers B} npmpindes

i€} funcanss (dt Al gt tmegs

Biolisuie techmigue 15 used in
(@l hssue suitums process

(B pene fransler prozess

1G] hwhhQisator procect

18] SeNMCEs™ CONSernvaon IgCass

Which af the fallowing ig correctly matched”

fal fran gge—Present agd

i) Bronze age—age of aghoulue Js= oF clofne
ang ylensie

(c) Mestithic age—age ot 10015 Sloncs ang Danes

(0] Palasolithe age—Age o anmal hustanar
languge reaing ana write

. Which of the following virus spreaded

through blood?

(&l Hepantg-A ius

B Hepans-B vitus

(5] Hapante-E wius

{di Both {aj and (D)

A tugher dose of alcohol may leads ta
(@) CHCHD accumuanan m v

1} ICWENNG OF QruCoss evet 0 Disc

(€I Causes gastnks

(el &l ot the Atave

Which one of the following = suitable for
experiment on linkage?

3 &4 aa = as AE

(o 4ago»= 4aB0

ie) ABEBEx aabh

(d) 3aB88= aalE

46. Surgical procedure fur child birth 1= called

8 ciatgn and curattogs (B ang C

(0 &ThER rutpyra of mamiane

47. A tAngstrom) means

(o 107 m i 10" m

4 Tl N8 < gl

48, The type of arrangement of lower and mode

of distribution of flower un & shoot of palm
ree 13
& Bpeipt i

&) spime of

APty ]

afixgNate LI COETCAUi i 5D 6N

49, The protemn first hypothesis (in origan of life)

i3 given by

a s § o L EhQTias e

CRans vk LN Sudnay &jbrige

50. Ogone layer s present tn

B} ‘shalospheng By Tropesiiee e

Tl TSECRTANE b s ey

51. Enzyvmie renin acts upon

o - BNENELans WA el

el CrEssuIe (N CrgEsto LroCeds

RO ]

52, Types of quills (Might) feathers (s/are

iaj ngiumea bl remugis
s 30 Ban oy an

53, Ischihara chart 15 used o detec)

al @yl Bgh [E0 - T SRNG5S

c CeaDeles o Hulmrs L AogiE

54. Coelom 15 present betwesn

i eCiodsim andl endoaam

MESO0DIT &) €

Disly svitl &rd et

VHESLGR T T SNg0den

53, The muyur exeretory product of arthropuds

i mardinia CF ursEd
b api (3 trseing 2
56, Structurally  the amplucrnbil  vasewlar
bundies resemble closely 1
AL SIS RS 00 SO a0
£ gorgncElags a2y ot
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57.

58

*

E

.

4,

In a detritus food ehain dewitus 18 broken
down inte form of inorganic elements by
detritivore. The process of break down of
detritus is known as

@ meching &
IS MrE i RATIC

BaChg

It ragmentahon
Savannah can be defined gs

{d] femparate forest

{6} troecal forast

(& Mmangoon fores:

feh) grassiana wilh scatenad treas

Which of the fallwoing statements s true for

Iysosome’?

(&) Sucdal Dag

(01 Srain for acid phosphalsse

{€i Sorhe cysivlic protin confang Sgrals arechg
[FeTT 1O IS0

[ All gt the Ak

60, March the following columns.

Column | Column Il
4 Cral contracapuyes Fassage o st
Ok
B Whs 2  Releaseq noemons

10 Dlock Chulatnn

Inful sacraton of
Livang FEH

- mMolantaNoroiant i

D vasectomy 4 Prevent litigaton

mpigriation of
Empnyie

Codes

A B C B

di 4 3 Y £

M3 42

et 3 4

y! 1 £ 3

General Aptitude & Current Issues

The holidavs for the banks are declured as
per

12l Resene Sank A

i) Sanking Reguation Agl

£l Nenctakie Ingtrumants Act

(di Companes At

. The primarv sector includes all of the

following, except
in} fonamtry B

TG L)

St Tty

B Eullire

. Planning commussion of india 5

@l & Constmul:onal Dooy

18y 30 neapannen! ang Sumnancus DOTy
€l a sattony Doty

o @ nOrEnTn Doy

Which of the following is not covered under
the monetary and eredit policy of RBI?
al Eank Rate
(o) Rego Rate
(g} Cash Beserve Rato
(] Exchangs rale of Foregn cullencas

5

b

Which of the following 15 associated with
white Revolution in India?

a! Dagabra Nazog 1)
{C) Sgencer Haten (g W5 Swaminathan

Verghase bynen

. During the time of which Mughal Emperor

did the English East India Company
established 118 first factory 1n India?

i Ak i) Jabangr

e Snanjanan ¢} Aurangzes

What 15 the local name of Mohenjodaro?
(@ Mouna of the Dead (o) Mowng of me Grest

o Moung of the Lvng (01 Mound o the Sun

. Which one of the following planois has

largest number of natural satellites or
Moans?
) Jupemge &y Maors

Saturn 1) Wins

. By which name does the Brahmaputra river

enter into India?

il Maras +]]

Cnanzm
ang o; Taangpa

CHRISTIAN MEDICAL
COLLEGE VELLORE
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10. Mullaperivar dom whose safety has heen a

1.

12.

13.

14.

15

16.

7.

18.

19

matter of concern 18 a dispute between
fa) Tamd Nagy and Ancnra Pradesn

(b} Kamataka and Kermia

e Tamit Nagu ang Keraa

() Tarm Magu and Kamataka

Maps on large-scale, representing both
natural and man-made features are colled
(&) Topographic maps (0} Themals mags

e Allas maps W WWan maps

Blood group was discovered by

la) Pavioy (b1 Alexanced Figwg
(€] Wilkam Harvey \gh Lanastene

The enzyme thut converts glucose to ethyl
sleohol 15

lal Sasiase ib} zymasa

iCl madase [ ireartgse
Chromosomes consist af

14 OHA and ipds {1 RMNA ang aninn 300
i) BMNA Rno sugar a1 DA and protens

Which of the metals causes [t lta disease?
{aj Cabalt (i Cooter
{&: Crromium iy Caamgm

Which of the following s Kknown as
‘graveyurd’ of RBCs?

(8} Soees 0} Lowe:

] Bome msarow [y ADperide

The ant malarnal drug quinine 18 made from
4 plant, The plant is

iR} naem il Sutarytius

181 Snvamion (gl wndhong
Conversion  of chemical energy into
electrical energy oceur in

{al atomic DOMDS ity elecuw teaigs

g) pamery (@i dynamg

A water tank appears shallower when 11 15
viewed from top due to

ial fectihned! ooagation 3 byt

D religction

] Wolal inlgrndl etechin

iy retachian

CHRISTIAN MEDICAL
COLLEGE VELLORE

15

20. Non-stick cooking utensils are coated with

Hi polystytans By
g b

Pty criDe e

AR P
ACK Couryt

21. The serentist whe first discovered that the

Earth revolves round the Sun was
o) MNerwton i Daitor
T COpamiIus il Estenr

22 What 1= correcting errors in a programme

culled?
i ikt i) Detuggng
,1.-.-1;:.1‘,31 Q) Interoreting
23, The set of nstructions which tells «
cumputer what tw do 15 called
& malter [ PR3 O W ]
sompial 1, Programma

24, Which was mainly responsible fur the

Bhopal Mishap i 19847
18] Matuyl lsosyanate o
=7 Ammona

LCarmon o cmie
¢ Larpon mondads

25. Glyeol i= udded to aviation gasoline because

i

3} pravents reBiing of DRl

O TRGLTAS COnBUmMnTGn of palts
01 MRGUCES EVADOIanon o Letrs
13 Morease aticency &f periis

26. Which one of the following ts used as a

moderator tn a nucler reactor?
al Hadun i Circmary witlet
(1i}] Hﬁaﬂa watar

!":_

27. Global warming is a conseguences of

(8] ramoacte fan out 4]
12} grean houss alfectt (o

JENE Cepen
Ac raur

28. Acid rain 18 due to air pollution by

LB CATGON £ Qude
L SRroot MONGKIE
¢ Mehana

df MuUs gt and SUintie Qgicos

29, The concept of ‘carbon eredit’ originnted

from which one of the following?

Rl Mot prolocs iy Eann sunsmi
I',,.‘._t'l'.:al Pt et ey A :‘t'ff ST it
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30. A persun well known as father Ternsa 40. As per census 2017, the sex ratio of Tadis 1s
iy AlNyare ke TR T TN W ol £ W33 ey G2 o wid
ic) Abgu! Sattar San o1 Bapa ame 4. The President of Indian Natwonal Congress
31, The larest biogas plant of the world was at the tume of partition of Tndia was
naugurated in i« Aa@gopmacnan (G} J8 #rpian
W USA o) Irelang Friaso i Garmu, AvAnElt Nt ) None of these

32. The correct sequence avder of the mow 42 Actle 358 of the mdinn Constitation

pululous countries of the worlid s prin ielees
ai Grina s USA Brapl hpneets Foantd
0 Crnl inens, Beae) o A BT
(gt China Ingd IndonEsa USEA Yran ARt 10 1 Conshtibind
G Ieha USA indonesia B o LOCHI Qe i it
33. Who s the suthor of the book "My Jife? 43, The Hight to Infurmantiun Act of Parliamens
Wi ehityry Cantan B : recelved the assent of the President of India
The Dala Lama 3t Ky wr
M. The Headguaster of European umon s i iied _
Htwated in e S I SEinker. <lie
1 Chglan B Gatimacsy a4, The number of Angle Indians whs can be
i) France B homunated by the President w the Lok
35. The Cannes award is given for excellence i Sabla is
whieh of the following fields? Vet .
&) Eiben Bl St T 45, Devaluation of currency helps in promating
vl W H algTw g IG5 Ey Lt i@ N 33! 3 _J’!,h f SxpEals
36. The augural  world  Test  Cricket bt o
Championshg will tuke place i 2007 10 46, 2018 FIFA World Cup would be held in
ial Enaiangd arw Wrales 3 (e - LT T3]
Rl Ve s 4R ek P I S
Asitolln - 47. lusulticient blood supply in the human hody
N0 = LA i | - i€ referved to as
37, lotensity of an earthquake 1= measured with & emostass b Hasmonmags
B Baromalar (9 o slg S aErTg A [T T
Faipgran e SevgmopraL 4B, What percentage does the Indan pupulation
3B, Sushil kumar won the miedal at Loadon comprile i the world?
Olympic event s a famous : 16 30 %
@) Tabie lenms Sigver "s I Thdh %
(B) Wresting Shamgon 49. Which ope among the following gases
W Goit player veadily combines with the baemoglobin of
(Qy MNgng of the atioye thea mu“dl;
38, UN International doy for qutural disastes ar hhatane
reduction 1s uhserved un I E T DN =3k
Gl Brm Jusly ] o 0 SE ST LR TN

15 Coranes e ST Mg ST T



50.

51.

52

-

53

54.

a

57.

S8

a

2
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Human blood 15 a viscous luid, This visocity
is due tw

I8} prolaine m o 0 olaEssiels (n pasia
IE) Bl N S8 di AB ana WBL » ooy
Who translated Ramavan into Persian in
accordance with the wishes of Akbar”

ia) At Fam

b Fan

lgr Abay! Qage Badem

ity Abdur-Raner @ g ngrns

With wiuch of the fallowing movements =
Arun Asaf Al ussoctated?
@1 NOm-Sonperahon mpierms
b1 G Disooegent movermar
il WMoiveduar Satyagrana
ot Quat Incta Moverrent

Who 18 competent to dissalve the Hapa
Subha?

& Charman of Raga Sakia

ol The Pregaen

c] Tra jontSession of Falamen

o) NONg of ihe dtowe
The 9th schedule to the Indwan Coustitution
was added by

a) First Armgaamant

Bl Exgnth Amiengment

W0 WO Arsenaormant

i Fouy Secony Amenpiment

The largest planet i our Solur Svstens 15
i3] Mars Bl Jupma & Saturt gl Sunnety
The highest grade and best guality coal 1=
@ Lgnite U Pesl

<h Bitumingus 3 Arirracie

Whicth one of the following longimudes
deternunes the Indian stundard time?

4] BSS'E o BES'E o MSE o Fak
Which of the following 1 a land locked state?
ia) Guarar il Angnra Praces

@ Madnya Prages! g e Nag

Crrl shift and ale ave enlind |, kevs

i ot [0 B |

&1 BDNATITEnG @ mIpeghTern

60. Swrage which stores or retains daws after
power off 18 called
@ viavis storape
D) P pvnialie SIOMARE
B} ES0URTAN S0 A
o gt SiCsac

67, Studv of disease like cancer 15 called

dl DYETL Gy 0] oncoogy
Wl Sy IOy \di nepnralogs
62. Bile = stoved 1n
3L mgull i v
A Dids0er S SIpMmuvch

63, Alpha-Keratin is o protein, present in

a) Saia ot saun o hpmgh g sy

64. Atwmic power plant works on the principle of
ok 2500
i (B

Tl COMmEUGE

55 A thee SO

65 Culindrical tens 15 used by 5 persun
sulfering from
& agtigimatar 2 myOpeE
oy DT OeE i) Lrashy iR

66 The chemical used az a  fixer' in
photography 1=
& =00y sphate
b goshum OSuRhaie
AMMONua I persuiptiale
(il
67. Higher concentration of nitrogen di oxide in
atmagphere gir causes

Anga i
L TH0TyasL e

B8. The first womun to became @ Chief Mimster
of any state i Indin was.
8T el LTy ¥ D R 1 |

2 Buchetn ar Qi Maydaal

69. CBDT stands far
&) Surinued est Ban raaly
G COnMiu.e0 15! Dawed realgmenic
CrEtplEnantieh Test Ban ftant,

CEIMDNGa) 1851 Dased it
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70. Where 15 the Central Food Technology
Research Institute situated?

&l Deik

bl Agara
e} Anmedabac (¢ Mysaie
7, When did WHO  (World  Health
Orgameation) come into foree un
(a) Bth Apn| 1848 i TR Agel TG4H

(G} 10 Apni, 1948

Which one of the following is the biggest
flower in the world?

Qi 26 Age 1948
72

18} Sun flower i
|l Gieany Liy

LOtS
{2 Haftlasm
T3, Palk straut conneets Indin to
{a) 3n Lanka (o) Pokistar
ol Myanmae f tnase
74. Who 1s the 158th member of WO
{@ Pussia (b Varuaty
[} Lacs [d) Ausiaka
75. Lok Sabha passed
Security Bill 2013 on

@) 22rd &

the MNational Food

i) 23 August 2013

wigusl, 207

iCh 261 August. 2003 (@) 27th Aupust 2093

Dlrﬂmﬂn Sefect the related u unf_‘l"rrlm the Lwen
alternafive.
76€. Botany @ Plunts : | Entomology?

{a) mgects (b Snames [C) Beos 0 Eerms
7. Arvange the following words according to

English dictionary

I} Billign {n) Bilurcare
W) Bilaiee fre! BlihiuSen
il now, 1

s R TR [1s]

T8, Which une sel of letters when sequentially
plaved at the gaps in the given letters sernes
shall complete 1t?
ceebl_aa_cebbbaa ¢
@&l acod 0] Daca €} Labd oi Bctba

79. Find the wrong number in the mven seres
5,27, 61, 122, 213, 340, 504

(a) 27 b

e 122 (e 509

80. Poinung to a man in a photograph, a woman
sard, “His brother's father s the only son of
my grandfather.” How iz the woman related
to the man in the photegraph?

a) Maone: {0 Aund

(@) Daughtes

B1. In on exanmunation, Raju got more marks
than Mukesh but not as many as Priva
Priva got more marks than Gaurav and
Kavita. Gaurav got less marks than Mukesh
but his marks are not the lowest in the
group. Who 13 second i the descending
order of marks?
1a) Friyvi ol Maving

\&] a5

¢} Haj [ell Gy
82. From the given alternatves, select the word
which cannot be formed using the letters of

the given word

TRANSLATION
3 NATION i) RATION
&) TRAMNSIT idi TRANSMIT

Directions (). Nos 84 and 84) Select the
Mssing nuwmber from the EIWVET Tesponses

83.

T o) 26
ey 39 i) 45
B4,
B4 1 )
B1 4
b dd
ai 18

CHRISTIAN MEDICAL
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B5. A man walks northwarde and ten tums

86

87

88,

left, then turns right and then left In winon
direetion 13 he moving now”?

(&l Wes!
(¢} East 2 S&uh

Ashish walked 50 m towards East and took «
right turn and walked 40 m, He agmn took o
right turn and wolked 50 m. How for 1= b
from the starting point”

L) 10m 25

) 3m gy A0 o

Two statemenis pre gven tollowed by 1w
conclusions T and 1 You have to consun
the statements Lo be true #ven i1 they seem
to be at varanee from commonly known
facts. You are to decide which of the given
conclusions, if any follow from the given
statements. Indicate your anawer,

1 Moih

Statements All the organised persons Lind
tune for rest,

Sunita. nspite of her very busy schedule.
finds timie tor rest

Conclusions
I Sunita 1# an orgamsed persun

1 Sunta s an indestvous person

o | AT T L

e
.|-..I.l

1 15 g et
LTy Wil
Muilhese

e LT AL o il

{ell Both gondiusicns | ano i fn

Which answer figure will complen
pattern in the question figure?

Question Figures

‘ R~ |
i x\_.-
A~

CHRISTIAN MEDICAL
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Answer Figures

B9, A puewe oo paagier o= telded and cut ax shown

el ot Vhae s fLures, From the
Ziven Naures, indieate how st wall appear
wlen opered”

Question Figures

bl ey
- « |

»

B

4
1
1
| P - i

Answer Figures

-_—-—-———’ S

171 ] ™7 Al o |

1 ! | YN | ol ] ! 'C#:" !

L_J I | M‘L VLY
& B 1=t L

80. Wiich of thas snewer figure s esaetly the

ket emage of the diven Hgure, when the
nireoy i e on the ine AR

Guestion Figures

‘—l': A
Ve N e‘;
R=TAWE:
—
—— e e T
Answor Figures
- - \
I A/ |\ NS/ | n.::.,’
”/'ﬂ\i 7 Jf'l:;\'\}%l j'"y}'-- / :-r": ()
| L_l/ NIV LAY
T

4] {1} fal
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Directions LY N ] and 82 Some pares of
the sentence have crvors and seme are corvect. Find ant
which part of a sentence has an ervar corvespunding to
the agpropriate option (01, (b and ¢ . If a sentenie 1
Jree from ervars, mark the ansier o

91. We requested the watchman (o) to clean up
the basement (b so that the chldren had
enough apace to play. (vNo error id)

92. Last might [ dream ta)1 was o sheikh on the

168th fleor (b of bur khalifa, (eVNo error
i

Directions ) Nos 43 and 45 Ot of the four
altermarives, choose the one which beit expresses M
meaning of the given word and mark o an the
anwersheel.

93, Benevolent

{m) Berartigial [y
(€1 Helpul ol Sucootve
94, Ancestors
ja) Eanncy mhiss o) Haativa
G} Fursiatnets |
95, Meek
fal Lght nearted o] Senaus

g

A

{el Subrmisemg ¥

Directions W) Noo, 96 and 97 Chaeuse the
word oppesile in meaning to the given word and mark
it in the anywer heet

86. Accomplish

i Fu 01 G AOE!

o1 Drsngresanie idl Scatte
97, Famous

fa) Joscure m E

iG] Larwent oy Fabuous
Dirﬂﬂﬁﬂnﬁ l‘l wos. UR oand My Four

alternatives are given for the sdiom/ phease. Choose the

alternafive which best expresses the meaitng of th

idlium/ phrase and mark i o ansiwee sheet

98, To take 1o heart
13 10 o Yo dnar AO0C

0 Ve ok 1

99, Yeoman's service
&l mathcal halp

T} SOCIE o

D) Sxcaient wirk
g hard wark

Directions (). Nos. 100 and 101] A part of the
sentence 1 underlined which may need improvement.
Alternanves aré geven a8 \aj, (bl and (c) below, which
may be better option. In case no improvement i need
VoY ansier id).
100. John 15 wearing his jackel as it is very
eold
i) taking on
€1 putting an
101, The hest offered me tea but | dented 1
a ‘etusad D) s@d no
&) fepss e 4 Mo mproveman

(o] gattng on
13l MG o ovemant

Directions ) Nos 102 and 103) Out of the
four alternatives, choose the ane which can be
vibitituted fur the wiven wordi/sentence

102. Instrument o measure  atmospheri
pressure
0 mennomEe i} compass
¢l CeJomater idl parometat

103. Belenging to all parts of the world
A Songn 181 winarsal

s, dl miernanonal

Directions (§. Nos. 104 and 1050 In the
folluwing questions, group of four waords are
guven. In each group, one word 18 correctly
spelt. Find the correctly spelt word and mark
i in the anawer sheet

104,
& Cinviiope o) Emweiope
Envaiope (@ Evweiog
105,
Al Lomiles
RTES
C i
1 Cortirr) e

106. The average of seven consecutive numbers
15 20, The largest of these numbers 15
8 21 i 22 [Ci &3 i 24
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107. The greatest among the numbers

¥4.42.93.45
131 -tlrd .hl 1.:'
SRE] {48

108, One-fifth a number 12 equal w % of another

number, I 35 is added to the first number
it becomes four times of the second number
The second number is
{a} 25 it 40
tey 7O (dh 125

109. In dividing a certain number by 342, we get
47 as remainder of the same number =
divided by 18, what will be the remainder?
(ah 11 L} 13
ek 17 idp 18

110. The least number which when divided by 5.
6, 7 and 8 leaves g remainder 3 but when
divided by 9 leaves no remainder, 12
{al 1677 bi 1883
() 2523 (g} 3363

111. Saksh: can do a prece of work in 20 days
Tanya 1s 25% more efficient than Sakshi
The number of days taken by Tanya to do
the same piece of work 1»
(m) 15 b) 18
fey 18 o) 25

112. The price of a VCR is marked at T 12000, 1f
suceessive discounts of 15%, 10% and 5%
be allowed, then at what price does o
customer buy it?

{a) TB40C o L8TH
{c) T BESE ioi ®BBRC
113. Ram bought a refrigerator with 5%

discount on the labelled price. Had he
bought it with 20% discount, he would have
saved ¥ 1500. At what price did he buy the

rvefrigarator”?
{a) T 10000 {b; T9000
{c) 28000 (d) 9500

CHRISTIAN MEDICAL
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X *+Y 5 x
114. If — = =, then value of = is
X~y ¥
3 i
3 - L | e

115. A vendor bought toffees at 6 for a rupes
How many for a rupee must he sell to gain
2057
8l 3 o 4 £} 5 g} &

1486, If the selling price of 50 articles 15 equal to
the cost price of 40 articles, then the loss or
gaun per cent 18

[a) 20 %055 =t

20 % ga

L . i
& T LGS ga

117, The ratio of the meomes of & and H1s5: 4
and the ratto of theiw expenditures is3 2 If
at the end of the year, each saves T1H00,
then the mncome of A 15

- o
3 i L Abix
s G

T 4000 b 3 a0y
118, Zine and copper are meled together in the
yatio 9 : 11 What 12 the weight of melted
mixture, 1f 2R 8kg of ane has been
consumed 1 it?
al 98 wg 1 Bl .Yy
e Wij i T
119, In a stream running at 2 kmh, o motorboat

goes B km upstream and back agam to the
starting point in 33 min. Find the speed of
the motorboar i still water

gl IV Rmn o) 22 kit

(e} 12 ke =) 20 wm

120. The differance between the compound
interest and simple intercst on a certan
sum of maney for 3vr at 6 = % per annum s

? 184, then what 18 the sum?
al ¥13500 (R1IR 4 i
fc: TVIS00 il T 10500
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Answers

Physics
1, 1a) 2 ia L ey 4, 2 5 & d 1. 1a 8. i 9. (& 10. (&
1. (e 12. (o LT TR T TR | P 16. a3 Wolel 18 (% 19, (a) 0. (a
21. g, 22 ic 23 o 25 26. ia 7. ic) 28. ic 29. 1a) M. (&
N 3. 1o 35 ) Mo 28w Mo I oD i 38 001 40, 0o
4%, d) 42, 1zl 43, o) 44 (= 45, o 46. ic 47. (i 48. (a) 48 (k) 50 (b
1. (&) 32 o 33, (e 54, A 55 0 56 1a 57, a0 58 (¢t 58 b BD. (g

Chemistry
1. (D) 2. (&) 3. (€} 4, {a) 5 .0 6 = Y. @ B. ig) 8 icl 10, (&)
" e} 12 (i 13 A 14 i 5 16. a 17 a0 18 ) 19, B 200 (a
21, (b 22z - 4, L e 2T, iy W Al W @ 30, (d
3. (e 32. ok A H o« as 13 ir 2 b - N PR
41, i) 42. (Al 4. 44 45 - 46, (g 47. (&) 48. (o) 459, id) 50. (d)
51, (di 82, In 5. b 3. c - 36. a2 7. ) 58. iai §8. (g 60

Biology
1. (b r S - 4, i 5 it 6. & 1. ib) 8. (d; 8 (& 19, i«
1. (b} 12, ¢ 13 s 14, = 15. ia 18 (nj 17. (e 18 (ni 19. 1a) 20. |a
2. ip) 22 1a 3. e} 4. () 5, |b) 28 (o 27, (ci 28 ic) 29. ia) . Al
M. (d) 2. g) 33 i M. (o) 15 /o 16, gl oo ! i 38, A0, (as
41, (b} 42. g 4). ) a4, (20 45, ¢ 46 e 4T ¢} 48. (9} 49, |al 50 ia

51. (a) 82, (d4) 81 () 84, (d) 55 ic 86. (g} 8. (d) B8, (o 58, 60 b

General Aptitude & Current Issues

1. (c} 1. bl 3. (di 4. (d; 5 (b 6 b T (&) B. ia % lc) 18. o
1. (a; 12. (g 13 (b 14, (o) 15 id 16. ia 7. (d) 18. |c) 19 id) 20, Q)
21, () 2. (o) 23. (g} 4. (a) 25 1a 26. (o) T ic) 28. 8. (a) . ic
M. (ot 2. di A3, () M, (3} A8, ia 36 1a 37. (d} 28. (bi 3. () 40. (A
41. (b 42, (e 43 o 44 (a 45 b 46, ih) 47T. (o) 48. |a 49, i) 80, ia)
51. (el 52. 14 B3. (d) B4 [a 55 (b 56. ¢y 57. (9} 58. ¢) 59. (&) BO. (b)
81. (b) 62. g 3. b) 84, jal 85. (a 86. b 8T by 68, (¢ 69. ic) T0. 1d)
. (b) 7. (&) T3 (&) T4, o TS o TE. (a) TT. id) T8. (v T8, a) BO. |«

81, ici B2. (4 83. el 82 o 85 i Be. o 87. ¢ 88. b 8%, b 90 o
1. (a4} 91 (a) 93. (b} 84, o) 85 e 96 ia 97, (a) 8. (b 98. by 100, (c
101, (ay 102 @l 103 v 104, (D 105, = 106. e} O7. (Al 108, (o 109, (a1 110, (b
194, (b) 1MZ. (0 1% 0 114, By 1150 e 1R (al M7, €1 18, () 118, (b 120, {a)
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Hints & Solutions
Physics

According the Hygen's prncipie. every gomt
or the wave may be constiersd ag source of
gacondary waves In photoalecins aliant lgnt
1 consiclersd as of partgle (Dundie o
photons) Hence Hygens theon, ooes not
explain pholoalestnc ettec!
Here Imbial velocity
s =18m/s

Timetaken (=105
and final velocity va = 10 M § (Aonmmearnds|
The change n velocity

Vs =y 4 H'-I: - 2vivs C05 90

= 15 = 15 = 15/2

Hence, accelaralion s

(BARIWATE)

e 1542
as= .L-..'l. B m— _3,_ nortregros
J 1 42

Here hme takan by the body 10 reach the
bottom h=dsg
imitial distante =5

The lingl gistance 5. = i
The digtance & & given by

S==Qr" ="

(whare 1° & the hme change one aight a
distanges)

The lotal enerqy of SIMPIE NOIMDNIC MONoN 1S
gven by
E =Kinghic e~or gy = polential enerGy

Ll 4

ar E=— w3t -y‘-+2-;"nm‘-w
ar E=m—wa
&
Here, E=a°
Capacitance o capacior

=BuF=6x10"F

Il polentd v = 10 Y
Firai potential v =20 4
Ine nEreases in the anargy & gwen oy

1
AU = Ofvy - i)

3 E

AU == w8 107" (20 - 001
£

AU =3x10" » 300

Al = G w11

Hera mass of tha buliel nm, =0 kg

Soeed of Bullet ¢, = 100 m/s
Mass of the gun m, = S0Kg
Accrecng 1o the taw of consanation of
miamantum s
v, m 'Ii...
0= 180 =50 = 4,

0 r“m-ﬂ.‘:m.'!:

Whnen we move up the gher energefic
COSMIC PAMCIEs  Camirg rom CoSMmas Causs
ranigdbion of Ihe atmoaahere the cOnCuciivity
NCIEasES
Hera potential dillatencs porgsy aituclance
Yo =16V
Porential differanca across resisianca
Ve =20V
The total poleantal AcrGss circur
E =yv =g
= 16 +20°
=256V
ininal resistance B, = 8

Initial length of the wave |, =

Final langth of tha wave (y = 3/

Az 1mE vDiume of The wire remans same alles
shalchnal

+3
The resistance & (van Dy
1
Rnp-:;;p. -.-_1_..-

-
e



Hence, P {"’}
! _E; ._::‘-_'-_3 .y
1 t
e
3 3 9
R:.:'QR=Q#

10. Awpric number of nuciess =2
The mass numibes = A
Az the alomic number Js Nurmbe o
alacirang (@1 = numbet &f protans ()
The mass number M = Numpoer ol npurons -
Number of orotons
Hence the number of npuirong = A - 2

11. The auclear gnergy is cotvertad Mo alecinca
anergy in 1he nugiear reachons This eiscinta
anergy then wsed of nin  the &sgincd
generator It 5 used 1 power siahoe H
gengrate alocinCly an lAge Scaie 101 1unng
the indusines

12. Here path cifference Ax = 0 8m
Fraguenty n =120 Hz
Phase dittergnce o =0.5=
The phase differanca o guan oy

et a
&
a=D5n
05x =2t 08
A
RLELL IR T
Q05m

Hanca e wave valooity & ynen By ¢ =72
(whate A is the wavelengii of wine
=120 x 2. 3=384m/s
13. Here capacitance of the cagacior
C=12pF
=12%x10°" F
Vioitage of the battery ¥ =50 V
The enargy stored in capacito: « giver L,
]

V== v‘;
1';

oF \r'.; 12 % 10771 = {50V

Hence v=15x10"

14, Il s clear that tha cyciotron 2 0 deyse AR o0 L
utilized fo accelargle w2t At el
partiches Nl protan ang ne:
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By uming & spnng magreue hald g devce 8
made possitie which bends the paths o the
NS
18, 72 ciaar thal potental difterence batween any
w0 pOnts 8 the 3maunt of work gong, whena
it charge moves from one pont to olher
- Work done w

Charge moved )

Hence the dimensions of potential diference
Dynengion pf work done

 Dimension of charge mavad

[MLT ]
e
=[ML'TQ 1)
16. .. =
_ Vo
5.1’11':-:-:
"]

coe [

Ratractive ngge ) '8 Qivan Dy
: ! I
W o A e D e

OO P ¥ VA 11 5

18
]

C=gr |;j:€rn {_r_
17. Sruca angieC = 30°

gnl = X
c

b N ——

I=10°
1 1
v-_-;\'ﬁ'x‘ﬂ"

= ax )l ms

1B, Cycloton  was  cscovared Dy Eames)
Lawrence of USA i 1831 AD s instrument
% used 1o messure Magnelic TesDNANGE
ALCETEnEDN
19. Intal lemparature
T =18°C = 201K
W
g
For asALSNC SUMEssIan
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COLLEGE VELLORE



sl

=20B% 8 47
=291x2 207
= 688 3K
=3954C

1
20, A=Wl ==t
4 25

ym-nw:,émmﬂ

5¢° = 500
[=i0s
finen Hewgnt G’_‘.D*.:.ﬂ_;'_

VeloCity o soung

500
o — ]
i

Heance 1he sound of splast wil ke

21, | = 35m
ve=3Imic
eml = B¢ s d w1077 = B = 35
=0126Y
22. Haltite 7, . = 3 Gday
Amoun lefl ater nime!
.N .F L’N}_

I

Nurmiber of naif-ives in hma (1118 givan by

hn‘(il
N, A2
1 .
F e B e
32 2

mance tme of decay

y i v
lﬁh;:Ei}n
&

=18day
23, Potential ditetance = 100V

"

—amm—
\-3‘,‘. win

4=
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E6x 107"
X BR10 P =x100%0 1x40 "
=12%10" " m
=12A
24, pv =nRAT
pi = m AT,

B =n; RT.
i F- S A
— el

ng AT,
=0

=V

s
25, KineliC anergy = -2- mo’ (& - y)

b 5
Fotential energy = 3 may'y
1

L

™

5.
~
»

L]

e

[

o« m 7Y
2
r

gty == mma

[ I N

-
T
n

£ p= )L Y]
o

= B7% of amplituds
26. Whilg the horss pulling a car, the harse exens
a lorca an the ground, therstare om the thisg
iaw of Newion. the ground will 3i50 exens a
torce op the Porse 1hal causes the horsa |G
mave forward

go _of
21*—-;

gl = 1°C
dP 15 change n pressure =04

poo10
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1 (ACH = AT
:Ei-_ 34, "= :!",,'.'.r_ -_.."‘.'r.::'_.-._;"_l.(;?___!n
0o T (A.1 1AQ F 1 AT
100 .. .. = B
T=ee—=250°C R Qiatoenic, gas Y= 715
04 5
28, C = dger ; 3
P 35 In irterferance ol ignl endrgy s nedmar
4=10° tiaaled nod destroyed. \he anergy thal
C=25%10"F dsanped 3¢ the ponts of desirucive
marferance  appears &l the ponl  of
30. Wen s chsplacemeant law congirustve mterterencs &0 woe-verss Thus
o T =Constant 1imtgrterencs of light merely rechstabution of
!:-__. Iy . T {gnt anergy (akes piace
b T ! A L.
(o 1000 3. 3= - Tl
— y
tho.h 2000 Py, & Wi Inen L and f, have opposite SiIgns
, k., and the nattre of (ens chanoes @  conves
(ks = El imng drvarges (he it rays and CONGave lang

Convenges 1ne ugh rays
3. o, =NABros @A 37 e !

5 ks « In fdecay. & bpe=la inus paricke {1 E an
=20 » 107 = S xong 60 giEctron amission of i myolves transtormaton
3 1 .:,1 msit inio i bir 1 f
220 =107 2 5x - ,."1 BUIFOM 110 @ Protos an election and a

2 tid partcle caled an antimautning (v,

= 50 % 10¢ =9 % .ﬂ.;--.
=K. 10 3B. » =1 represent Koshall and the numtsr o
32, From Bonhrs theory trecuency cof ncioent Siements toving K gl =2
rachalion n=2 tpprasert [ shgl and the nombet ol
x 2 aement havng L shall= 8
v=RC [ o mo=3 tepresent N shall ano ne umbesr ol
ny m eiements having N shall = 18
" . T ymd§ t M oshall and the numbe o
=107 = 10% f ANEELY n=4 represent Al shall and ¢
QLT R 3% 10 [25 4:] giement having N snall = 32
s 1 Tota number =2 - 8+ 18+ 32 - 80
=ax10 [E o 1—% 39. Lat D7 be the angle between vactor Pang Q
3 Aose resuitant s R
=3x 10 ['_—EJ Hara P:iaiﬁﬂ‘fﬂmgzpr
=916= 10" Hz H:=n:-|:’:‘:FC“_'J$H
oL 3PP =P u P s 2P cosl
33 E'U 3P - B =207 cos b
o B =gP-casH
= fwi=0 1=7cos®
i -
lgw _ o Q=603
e 40, ampliude 18 independant of wavelength
i veiosity and requency of ostilauon
wiiare & = — = [ongiludingl acceleranon ot
ot Moo= ::
a=0 = T
Hence longiudingl acceeratian of & pianet < W )

Lerm
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W=4a o_‘
X
Wo=aW
Net charge acouired by mouchion § zero &5
there i only manster of glecirans from gne
part of body 1o the othat

43. ¥ =|': - |
Difterantiats wit «
23 P
o
0x -
B i - il
i
e -
o
(5)
- d'r
-
4
aa
T
g=- —_—
X "
d4. ¢ =
it speed of light wera % of 15 PresEn vano
then
. 2. Y i o
E'=m —c] =40me =40
k|
Energy decraased by

E-E'=FE-a8 E=3'8¢E

48, Sicoro: s more watile than walar Decause is

vapour pressuprs 8 25 hmes greater 1Na0
water A liguid vapourises whan 45 vapour
pregsure Decomes egqual (0 AIMosphnens
mressure

4B. Tratemparature of the body 15 same that ol ils

surrpunding, 50 the anount of heat abscroed
by it shouk! be equal o amount of heat
raciated ty it

48, Appears resistance of g-n unchon o lanwarc

brased B, = 10°01

Appears resisiance of p-n juncticn = faverse
piag A =107 12

B W0
AR 10
AR 10"

49, Works done W =2A4T

) 22 w10
]

=1ad« 107" )

50. Lethe charges on capagctons beg, 4. then

s1,

20 uF
[
i

10 uF

gi=Cv.g; =GV
Tatal chargea =g, + gs
=L V, + 'C;'l"_-
Let the aqunalan! polentsy be V ang smce
fapacear's are connected o paralel thaa
aguwvalant capaciiance s
C=C G
o ='|"C =0 -+ trf:
=VIC =Gyl
GV -GV
J

= V= = =
L * Ls
Goraen O, =20puF V =500« C  10wF
Ve 2 200V
20 = 500 <10 ¥ » 200 «10°°
v 20+ 10 =10
nh
..M =400V
30 =107

When current ¢ liows. across potential Vo then
power v andV = £ (Ohm's law)

40W.
20V

@0

The curents requred Dy tha 1w tamps 1o
ther normal brighiness are

- )
T 220
!E:"Taﬁu
"
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L.\'
A + R,

40
—_ 236
" Thga - 0 2%
iy = EJ:\.. = E =045A
Ve 200
The resistance of the filaments are
Vo 220x11
R. -————
Iy 2
52. Equaton of SHM Y = Jain (027
Compating with f = a2 310 ! we Nave
2=3m w=02s"
Mass of the pamicle = 3g = 3= 107 kg
Tnerefore. Kinelic energy of the particle 1

= 12101

1 . -
K=§fﬂm}|a' - x5y

-évc'.'!rTU':' x (027 (3 - )

=048x10" J

83, Moment ol wmarial of the roa aoout &
perpandicular ans PO passing through cenlre

ol mass C
-]

B

¢ N

Q

L

. ML
Lat N be the pont wiich divides the lgngtn of
od AB inratio 1 3 This poim will De ar a

distance jé!n:w'l C Thus, the momen of indarta

I about an aws paraliel 1o PO ana passing
througn the pomt

P ey &M[E]‘

MEMEME
Nz 3% 9

54,

56.

57
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It X e the radius of gyration then
n ]
= l_ll_ = L— ..1.'.
Yu Va 3
VWnen lift moves down with constant
accelarahon g than
mg - wy =2mg (i
Fram Eqg. (1) and (I} we get
W+ -;_'mg [T}
When it moves up with congtant
speed, s accalaralion is zero
So w=-mg=0
or w=Mmg (i)
From EqQ. (i) and ()
W o+ W, = 2w
Wity + s
————te

L

or W W

A 1orgett Can DE Cons:dered as a nng snaped
ciosed solenoid Hence i 1§ ke an endless
cylmarnical solenpid

Consider a 1orord hawng n turng per uni

iength Magnetic tield at a point £ in the figure
afwf

s gvan as B = 8= =l wheren = —
2nr = 2nr

Hance the magniuce of magnehc induction

for a current  carying tarted of umtorm
cross-gaction & uniform gver the whole
Cross-sechnn
Isggonic ines are (ne unes on Ihe magnenc
map jpening the places of aqual dachnation
The number of atoms per unil SPacImMan
pN
Fl = —
Far sron
p=78x10" kgm™’
b, =802 « 10% kg mol 4= 56
7 8x10° x6.0210%
n=
56
n=8238x10"m"
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Total numier of atoms in the bar s
Ny =nV =838 10%
w(§x10T %1107 k12707
Ny =419 x 107

The saturated magnetic moment ol bar
=4 19%10% =1 8x 107

=754 Am?
58. 5 = L2 (5in 9 T 5N 9
dna

Chemistry

1. Benzene sulphomic afig ano onirophens
react with NeHCO , and evolve CO, gas
S'DJH Sﬂ,Na

@ + NBHCO, — @ . H,0+CO,
o0, OMa
+ NaHCO, — @ = Hy0+CO,
NO.

Because benzeng sulphonc acd and
p-niropnEnct are sUGNger agids so they are
capable af 1o evalve CO., with NaHCO,
HCO; «H ——H,0 + C0.; T

2. Rantiging angd cimenaine are anlinsiamng
which 2t as anlagids while Dromighergming
and terfengding gre antihistaming which act
as antallergc drugs

3. Monomers of acnian polystyrene and tefion
arg CH, == CHCON = CHgH:CH == CH; and

NO,

58.

Ll

as=
23
2] n—“-i'r—uismﬁu + 8in &0)
.1,,[ ]
2J3
G|
B o=
dn
B,,=38
By =4x 1077

¥ IHS'-HEIT(—'— - i.J
Ooe 20

[ )
= aml12nl~ -— |
T &l

= (700 % 10" 50 < 60

7107 J

CF, == CF, respectiveiy ail 0f which are vinyhic
monomers while monomer whits of fylon arg
Nylon &—Caprolactam

Nylon 6 6—Adipre aci! and hexarnathylgne
Qigrmne

MNylan 6 10—Sebacig acd ang
hexarmethylene damine

In @it the theee structuees (), (I ang {IIl) the
contiguration of OH a1 C, is towards nght and
hance all have D- configuration

Linkage isomensm Gecuts in N 2oMmpounds
conianing ambideniale igands

In gact of the given compigx, Fe s n+Jstate
A5 .07 = owemate chelatng igand, f
farmis Shelate nNgs and nencd 15 e mos!
slabie COMplex

Due 1o very small value of K, e second

loruganan will De very |ess angd in_ salubion

oxalate on (CL0,F° wil be & lowes!
concentraton
For a conjupats acki-Dasa par K, K, = K,
¥ .Iu.u g
B e — — TS [
BT T EeY T
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10.

1.

12,

A lace of thus soid would appedr as
A

C\
@
(—e)

1
Mesing de—w2=-
1773

A pTﬁHBﬂI!!'\—%:

a2

Mesiry 8 =

|
2

B pregen = 1-

LRI ]

i
5 -
formula 4, B, = A5
3
The reaction &
Zn+ CuS0, — Cu+ZnS0,
In+ ':.L.l:‘ —t Gty 2"
. o059 [2nt)
E. =E% - 3 lg T
Al sgquibrim. B =0
EY : .Dgi':.- |

Zn*"]_2xE'.
G o T | Dl
E* . =0TE=0034=1 1V
=3«1 10, 0.0591=37225
' i

J_l_ — =1 B79x 100

(Cs™ |
Stroriger reducing meal dsptaces ons o
weakes reducing metais from the sohubion
Frem lirst twa reactions A & weake! reducng
agenl than B & s weaker reoucing agen!
than
Reducing powsr A<B«C
Fonm the next two reactions
8 is stronger regucing agent than D
€ s atrenget reducing agent than O
Fom ine st reaclions 0@ slronger reducing
agent than 4 Thus. overall reducmg strengrh
A< B<C
It an abeCtron can Nave [rae vakes ol so
guanium numoers, an wotal Could occupy A
maarmym of 3 elecirons rather than 2 unde
present convenlions Hance 0 thal case a

13

14,

15
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3
penng could !’«TGDTHDGHEEE Times e alénient

Esent now, Hence thia alormn nombse of
aotle gases under hg oomverfion would e
315 2754 &l

=

‘ =.-‘::ﬁnc:{‘f]ms

1
v =21 x10" = 5 = T2667 = 10'mg

L
Number of revoiuntons per second = ey

e

12667 '_""?___

-

21..-:11-1,[431:1529110 . 2}1_' |

=243 % 10 7 revoHunan per sesona

A hag13panai12n e —< 1
o

Suan nuclen ne Delow the Gang ol siabilty
tiecay by erhet pasiron emission ar slection
capture of Mg~ as
A LeThMy
Mass of solie
Mass of sohany (Bangena) w = 2500
obseved AT. =T B2 K
#o=d 9K RY Mo
Dingerveg Mo mass al Benzes ao
M. = JOD0 XK, x
: AT =w
a 1000 = 48x20
162 %250
Calculated molar mass of DeNZo s

WA Acic) W = 20g

=2420mol”

=72a5-12- 304 = 120gma
_ Galculaled molar mass
obseved molar mass

var't Hoft lactor

122
T 242
= 0504

g g ine degres ol asspodtion of pengos
acd then

2CHLCO0H = (C,H.COOH),
Initsal moles 1 ]

Aller assotiahon (1=-a)

ST =]
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Tolal number of moles ol soule  2iter
assnciation

u
wt—) li:‘l— -

LN ]

1= =
'F"—1—- =0 504

of 1-2=0504
Z

o= (1=0504)x2 = QA=
= (1992 or 95 2%
16. Reduction polentials in the orger Z-¥ai
means thal 7 can be reguces mast aacily, and
X least gasdy @ Thew omdisng nokwers are
oY=k
Trus ¥ will copdise X but not 2
17, AL=Sxi000
malarnity
_ 1836 108 em” x 1000 el

00024 'mar L
= 32 785cm* mol”

1276
B — il
=350 - 008

o i
T=u
_ 0.00241=(0.084]°
e = -
18, Rale = kab Wnan volume s recucd to 14
concentrations will bacome + imas
Mew rale = A|421140) = 1680 = 161 mes
19. Fate cepends upon the siow siep Tnus $iep
shoulgd nvohes T molecule of Cl; and 1
molecule of H.S Hance A g the conedt
mechaniggm
20. When achalk STk & Gipped 0 nk adsoiption
gt Coigurest subistance fakss place and
abgorplion of solvent oCcurs
21. Smce AG = negatwe for hiral reacuon

therefore. =2 owdaton state of Ph s more
slable Funner since AG® 8 posive fof
second reaction, tharelors -4 Sxirtatisn stale
ol Sn 1 mora siable Thus opron (D) %
corect

22, InIF. | 15 8p% " hworiciseo so the maeculs
have pentagonal boyramid geametry

1 BS 10

F F

£—)
71N
F P
[
¥,

23, n 0. Cl s 5’ hyoadised and the bond
angle is 118" In GO, O 15 sp’ Mybndisea
Howeve! dul 10 1epuUiSionG DEIWeen Two Dig
sized C) ploma. the DOND angle increnses
trom 109%28" 10 111" InCiQ., C! atam s &
fryOnchised Dul due '0 io-iD repulsiong he
argle decreases from 106°28 te 103" Thus
the ncreasing croer of bona angies s CIG | -
ClL0 «CI0;
Avaiiatiity of 47 - glectrons does not resull n
e formation Of compounds o +4 CXoaLon
state for all the memebers of the lanthanod
9885
25. Acidic cnaracier incregses wih ncrease n
S ATGn state
M Os —asiohic (M= =7
VL0, — amphotenc IV = +5)
Cr0 - basig iCr = +2)
26. Alxyl haices are more eacive than an
halows Among alkyl nalioes. 3 abkyl nakdes
(1) are miore reacve than 2 alky haldes
(V) Amang Ayl hakges. aryl halides hawng
elaciran withowawing -NO , groups ate - and
b= poslons (re ||} arg more reactive than
smpie aryl habces () thus  the ovarall
reEChvly INCeases m he order Lo =1y i
27. Sutsitulion nucieophilic  Dimolecular (S
inBlvES Averson of conhguraton
S, teacton s favoured ot 3 alkyl halice For a
gven system BE ot C-Ci>C<Br | wth
pheny! group Qives resgnance slabilsed
carbocabon
Trys ncreasing o der is IV I< = |
29. CH;CH.OH couses S, reaction gving (4) a8
majts product whane CH,CH.0 | a stong
nucleopfle) Causes emraton  reachion
giwng (81 ag maor product)

24



CHRISTIAN MEDICAL
COLLEGE VELLORE

32 c©MC Vellore (Medicall « Solved Paper 2013

3

37. OCH ._.l:}-r ootH ek O OO

ol 0]
7o 7 i&ni -

— CHOHCTO
38,

B LN e = =t eH, cH

3
;-C=Q4HH.‘QH—-—- 3 == MOH

CarpacEan

a4 CHj CH:
Mgieine b ThHy CH,. oM
Q—E" | D--mar J GO« NHOH— C=N
CHCH,.~ P e,

Sydant izormers
O :

39, Camong has the nghest valus of snergy gap
as /! 18 a8 insulanse

32. 40. w. mxg m, =18 4, & 1-J6=04
CH-‘-(EH—'-CHk — wg =880, g = 4B my =06 5, = s

Wi T w8
— Ul s ————— = —=x
@EHCH;.CH:,-“—":{.\ /)~ GH—CHCH Woim, e wpimy X B9

| 18 4¢
resonance stabiisea OH <= 18
h.ﬂl‘ﬁlﬂ Pﬂﬁ"'ﬂ“ ﬁ"l. L ing callg SnrnKs o DyReame  Sohsiior
33, 1-pulyne has acidic Nydeggen hance feacts iclasmalysis)  while Gursts n Rypotonie
with Gy Cl/NH OH solultions lendoamosis) Thede 3 W0 ot
2 = Dutynd withou! tErmung) Ry arogen does na! WIEN VING CElts are Kept SGRC EQIUn
react 42, Ap=1He alom

1
o= — H& atdn

34.
CH, 5
H, 1 ‘ I
LAl CH,—C —On 100 = ——— = 25410
Hy G .\———' -
CH u PR L Farent of mete

"
.

This cond

iE cigaved
35. MnO ; cwdises allylc and benzyhc alcahas _[745-355}x 355 aa
CH,—CHCHCH,CH,OR — 52— 385
e - 44,
alybs O Ths s not affeciec (“\I—N;m HO—~ e
CHa==CHCOCH ZH.Or *\9 L
36. Glycol biocks carbonyl groun e e s Phacal
Ak

CH,C CH,C = CHy ———

©=rAQ) o

WY e L}

CH{C CH,Cwm CCH, —T v CHyCOCH.C

e . .'_'_ HA o« IR0 —
» 'CC '_: 45. b * A kS ke
G NG & Sinall = 300



46.

47.

91

-

52
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Pamal hyorowysis of celiusse guvos tha
CI3aCenanca CEnIEOse €yl
Cellutinse resamiles maitgee (Wheh an 4000
calalyaed hydroiyss  pigizs W moig
equivitlarts ¢ D-glucose | 1 gvary ‘esper
except ane tha canliguranon ©f its glycason
hnkage

Vitamin B, '5 calted pyridown It i loung
fruits. green vegetabies milk &te Due te 1z
dehoiency anaemia diseqse s Sausad

. The guvan siricture is of higlamine 1hat acis as

A negrafrdngrmitlen and vasodiato:
The structure of 4,0 15 angutar YV snag ang
has s nybnaisaton ang pond angie s 105

Its dipole Moment valus & Dositive gr Mmoré
thar 2oeg

0% :_;ng\
HomsaH  FLBe—F
(=)

In BeF, stucture (& GRed’ Cus D A
rytrtisanon iy =0) Thus Jue iy s o1 H4)
is-Qipoiar ang dug oy = 0 Bef- 's imear

- FOr KO, ©- nas unpareds alestron ey

paramannaic
0. 1M oW o5 glsozs
(R2p° = r2pf i %207 =70

2 P

Dunng tycdralon Of 0 M GUuetus Joubion
fhare exsls Gn atrachive force nenyssr ions
and waler MoleCuigs WwWICn e oar o
nalure and acis a8 apoe a0 nygaion of
IS i AnUEDUS SLIUhIon & araaariie 21 a0
dipula mteraction

Ma belangs o 1A grouo ana Mg selengs 1z A
%t‘wp Qn maving from et (o iget in 5 penc
IE incregses Thus IE. O 1Q 5 greaisr than
IE; ofMa

Electron aftmily [ kJ Mo .
Cl=3485 B =224 7 and | =285 & Chinrng
has fghes! sactron vty vaiug

S0 accerding 10 Queslon the comeul orge:
Al Lléf:lr =F =8

« In Deween iAo successve cOGIons 7O MofCe

5 8Ny Gn the gas molecule Resunantly. ¢
travels wilh upilorm aloody  ouneg g
inarval and nense. § moves aleng a stagnt
ne

55. .

3

57

58.

59.
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« [T
M.
- _[mT

ol [ p———
Wiy
Vo

Bown are al sams temperaluns
THe) M
UiaNH ) 3,

[ Ex28x10
Yarwaxio?
H&) =2 a375x 515 = 12553ms
488=107
8023x10%

=2 4375

8E 0! O, per molecuie =

w B35 10 My
Snargy  required for  photocnemcal
gucomposiion ol one molecule of
O = 826107 Y I 228 1B 10"
=1 22x1078)
5 E—; 682510 " x3x10%

=7
£ t22x=10"" 2inn
Fiol a givan value of ' the possibia values of
ae=fl 1,23 'in=1)

Trmelte f /=3 then n must be greater

han 3

g = [NOJ[HAD]  54xET

IH, |[NO7  QD5x002
< K 140 %104

& feachin & cigsed 10 eguiblipiim

Mole ot .50, 0 50 mL 3ock soluton

= 465X 10

BE 1
= 80xT TB—n—=0 78
100 98

Snezé 50 mb of 1he above salution is dilutsa
19 107 Molaniy o M50, 1 diue solution
=T TRAM

[ 2«078

-

G, 4-Gy,, = B2kl
AS eTan S40000
YT T A

- 213K
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Biology

Keipe ke tutus and Lamingng (mambers o
Phascphyteas Drown aigae) are neh soulce
of iodine 25% iotal odme & ontaneg from
walps and aleo cortain broming Cu Zn.Fa B
Mn, Mo ete. Because ol nawng oame the
dired helps are used 1o Yaal gols:

Dug 16 aUcRon I Iarge Quanties 0t domastic
sewage and wasles oOwyger levels ae
daplected, wieh are reflected in term of BOD
viluas of water

Fred Tayioe a Venus axpress miardiscpinary
goentisl, umversity of Oxlara UK describes
VBNUE a5 aarths fen. but separated at anth
GlyowysOMes Ae BNZymes Wheh Blay A
crveal role 0 g melebolsm n seeqing
Hence Ihey are SuUppoSed 10 De plesent
endospem casiar as ancosperm ot whaal will
passes atareh
DNA vaccnes are called thed generstan
VACCINES SNt dre mage up of @ smal cirtula
piece of bactena! DNA (calea a plastd] nal
hae pean genghcally engingarag ' Lrogucs
on or two speciic prolen (antgen e a
palhogan
Vil chionds & used (o make Py Vit
Crigngie {PVIC) Clastic and vy protucis
LOng lerm expasure 1o wnyl chionoe tnreugh
inralation and oral exposute 7 NuMmarn results
inlo e damage of Cancer
WMiraichum lanva 5 associated with e history
ol tver fluke which is nfectve siage of
secandary host Different lana’ slages of hvgr
Nuke are found in foliowig Seuence

irgeutdim

+
Sporocyst
i

Redie
Carcana
Matacarcans

Malg Ascers 15 dilterentianie trom lemale
Ascars Iml &snd ol mple Ascans 5
characiensedc by the presencs OF Numenus
genial papiiae an voniral sutate Trate &g
50 pars of preanal pageiae Dehwd d
Somelimes two CHlinous Spouiate precass 3!
afual size afe seen protryding out of the

10.

1.

12.

13.

14.

15.
16.

cioacal aperurs. These and cailed pendl
Salad

Hyciea nas four types of nemBatocysis. They are
penstrents flargest),  voients  (smallestl
sievoing glutinant ang streploline glutnans
ir ackdtion 1o fag polymgrase analher enzyma
snl palymerass & aiso used n PR Trha
(ates s abtained from THermoCocous oans
In muman beng the wan curly nar &1 8
Gorminani Over straignt na (5]

Woman with Man with
straight hair cury nair
5 5%
587 -
Curly hair Straught hair
; :

On the Dasis o requitement in Dody the
margame alements are ol twa Iypes

il Macroelements C H N, O, are calles
FEQUINSD M Maximiusm amaount

i Microgigments ron. oding Mn Cu Zn
Eiyahne &tc Sré requirad in mMINemurm amoun
i the body

Trigerminsl narves V| ang relatively iang and
mixad nérves (sensory and motor both) that
arses from lateral aspects of antenor part o
medylla oblongata

Seraniomyces 8 lhe  largest  antbabc
producing genus n the microbal wona
discovered  s0 'or  The number o
antimicrapial compounas repenea kam ne
species ol this genus per year ncreased
aimos: axpanentally for abdul two decaes
in polen cullure, anotner are used as nurse
cells i sucoessiul productian of embryzias
Alarcs & & fraction of solar energy anon
wave radation) reflacted from the earth back
o goace It the meature of the rafiecinty
of agrh surface o2 specally snow on hetop
of ! has nign albenco mist sunhght fitting ne
sutface bound back toward space VWalel @
much more absorbent and lass rafletine

CHRISTIAN MEDICAL
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18.

19.

21.

22,

23,

24
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Eusthanopteror was Devoman loss) fish on
th girect [ine towards ine eary ampnixans 1@
was an elongated  camwarous  ish
charactersed Oy advanced nature 4
vartebrae and sthang nowcnog
Stomal incex rSI.-:-S— « 10

S+£
whera § =Number of stomata
E = Numpar o epigermal cells
Solar energy reacnes an acosystam bom
outs-de
Cagnorhabits eegans 15 a micrescopl
{(10mm)] pematode (routdwormi  Inal
norrmally tva i sl 1 has Dedome one o e
moe organsm n bology
According 10 Tuslogen thedry of Hangtan
(1870), the shoot gpox is differetialag Mo
three dishng” menslematic 20Mes o ayss
|a) Dermatogen [forms epioenis)
(o) Penblem {forms sortex anz engogdenmis)
fci Phefome fionmms pancycla) vastula: burdies
(g) Medullay favs and pith
Infectious flachene & caused 0y 3 sphanoa

vitgs  The wvarous symotoms  ngludes
franslucent cennalothoras
Mandei's law of Inbentance 186

chromosome thaory of inhemance 1902 ONA
henchilary matenal exparment 1844 52
Praiam are 1he strongest /mbigants of waler
starch less strong. cellliose oDeing ihe
weakasl, That s why prolenatecus pea
seads swall more than the starch, wneal
sealls

The distance betwen two 2-lnas is caled as
sarcomera wihieh & a functional wn of e
musclke Each  sarcomans moludds  ond
complela A-panc ang 2 naves bangs on tne

1
LI F?,‘-;-"H-—]
{Fenseg

Placoderms ware  the  aariest
vertabrates  appearsg  cunng  he
silurans anc lower devonan penst

Gens sipncing 5 3 mechansm Oy wiich cole
gnyl down Erge zections of Sheamosamal
DNA Gene silencirg is done by incorpaatng
i ONA to ba sienced e & form o) TINNA
gallad natercChromatn (Nl s Siread), =80

For tabon of g 0O, molacules ouring Calin
cycie of phalusynihesis. 16 molscules of ATP
ano 12 molecules o NMADPH. ara regured
One  molecule  of  glyoersidelie .2

)
ugEer

28,

.

33.

5.

36.
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phosphale (3-Carmon molecue) 1s formed Dy
twation of 3C0, moleculos 9@ ATP ana &
NADPH molecules are required 'or farmation
of givceraldehyoe chosphale

3CO. - BNADPH - 3ATP
Gueeraidahyde 3-onogphate -

6 NADF® DADP . 8P

The central dogma of molscuiar biology was
onginglly lormuiated in 1858 by the anglish
mialecular Diologst Francis Hary Cormgpion
Cnck |1916-2004)  Sianng that Dioiogcal
tarmation fliows in theé umdinaclonal falterm
DMNA = RMA = Protan

BFH (Bamgn Prostatc Hypermropnv & the
Berugh  growih . [nonslancerous) of e
Qostate. WhiGh May Be lumed nto caine of
iify urtrapted

Fragis ¥ syndrome aiso known is Mart'n Bl
syndrome. discoverad by Martn ang Bei) ¢
1533 Tne term Fragllie X s danved o e
tact that the X-chromosome of abociae
NetiluBie Anen cultused oz rreschian 10
aehocent in folic acd extityils Qigaks o

reat e np of long arm

MNail nase contain acively Jviching celly
Eirdus [0 18 presen pelween fhe nuran
skull Dones Il dpes Nt 3UOWS MO nent
becauss ine Dones are Nela Trmiy togeline: by
bundies of strong white colagen fitres
Camlpgmnous jonts are prasent batwean the
cenfre ol vanebras, al the pubdic SympRysis
and perwesn rios 2ng sternun knee s the
axamnie of hinge ol Synowal jonite ot
Betwean wnb and Dones

Somerostating alss Ahioss the release of
Certan  hormones nciuong  Bnyrgiropine
Slucagan IRBUNM anc CheCysiokimi

in balgsmn Mimicary @ ccarce  palatable
{ediplal argl  LMarclecied  orgamsm
fegammies N oM angd shape with an
abuncant, ralanvaly. unpelatable and well
Fretedied organism

Wall dnown axamplas of DulEsan Twvptary
ang ek nsects eal nescts and Ceal keal
Lautterfiy

Decdus oasalis— g LOmion o
ongCiTEtlem Delwesn tha Shoudn ang ine
stratum pagaig of the Jeius

Decidua panetais-The pait of endomslnum
nol  ivolved  in imolamtaton Decidua
Jmbaclus-NA  such stuctes  ensl  oin
andomelium
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37.

41.

43

Duratios of cardiac cule

Atnal systole 0 1 sed

Alrigl Qaastole o 7

Ventnculn: sysiole 0.3 sec
verinoular dlastale (% sec
Campleie Carciac dastols O 4 ses

. AgranuEacytes dre  @ucoCyies  that  lack
granules m he Cytoplasm
Singa ymphatyias ars agranuncyies
whgreas  Basophiis,  Neutropm ann

Eosinophilg are granulocyles

. Theme are vanous thedres ragariing ageg

i@ QEnats ciock theony
Errur thaory

Mutaten hecry

‘.L-..ll'-"»]..mp- WEE TNEOHY

Clinket = wasts produst feony

IFramanity iedry

Waar and lear thieory ald

In aurelic growth the walgme ol e Doy
increase due 10'the growt of cells witfiaL! ary
pErngge o the Aumbear of Callg

Such wnids of growlh € sean paly n
rematodes  roiitars and  tuncates (el
chordale. & wochoriate)

Binisic techngle o miZrogiopectie

bonbardmant Dave been widely usedl foe
carenl ranstormaron Thase mathods féy on
the accelgranor of gold particies coated wilh
plasmio ONA, it plant cevs as a methog of
direcly wirogucm 1he DNA

. 1 Palaoitr age-—Age of rotls stanes and

Cones

2 Mesounc age—Age of animal usDandy
Language reading ana winhng

a3 MNeo i aMp—age ol agocullure
Rnrabecioe BNa wie o clotnes ang Jlansil

& onoape—Presen! ane

Hapstitie-E vive spreaded theaugh coou of
thn tien ATOreRR heoaihe-A anc £ A8
spreaded Inrough cOMaminalel water ana
tooo

A mighar Zase of dlcgnol has all & eMec on e
bocy grgan Tonsumpnion of aiecnol may
lgads ro secumuintdn of ol COMpanc
Tr o0 n e which growos enegy 10
ghesise fa1, 50 vel pecOome dry and nerd
and Baeama tha stere houge of far (haty ot
awar calle are mplaces by Nbrous tesues IS
state of it 15 calen ver ciThosis

45,

47.

48,

49

-

51,
52.

Excess imake of alcohol causes lowenng o
miood gluctss level and algo cause gaslilis
ALBB and sabb 5 suliable for expenment on
linkage Linkage a tendancy faor certain genes
that {ends 1o be nhented lopether Decause
1Ny @re presant Gn the same chromosome
Thus parental combinations of characlers ars
loune mate tregquently o olfspang  then
no-parenial

. D oand © s metnog of abomon Artical

naptyte of membrane 1§ process of mduchion
2! labour whordas caesarean g surgical
process of chid Dinh lor cosmeatc Qurposes

v LSCS  (Lower sechon) caesarean
Lectinn) i pralerec
A Angswom) means 107" 0 m an

temabonal unl used n Lplogy 10 Measute
sre Ot oopect

n coconul, pams and  bDanana  Ihe
niiorescene s compound of spads Spade g
a lyoe of spike with figshy axis having Holh
maie and famale Howers It 15 encuiad by
olouwiest Dracts calel spalne

Tres praten st hypoines:s is goen oy Sidnay
Fow He has showh that aming acd
priymenss atnolicgly when exgosed fo ary
heat 1o form prarandids With - catalyshic
propades Proteingd ont contact with waler
fomn mecrosphere  Micrgsphere  which ag
sumposed only of proen have a number ot
sellla  chnasaciensies and  Ccoulg  have
avgved nito the protscell Thomas Cecn and
Sidney Altman grven [he RNA hrst nypoihesis

. Mmospharé has oeen gwaded nto § layer

trom Deltw above-Traposphese
Srammspnare-Mesosphare-inosphers  anc
Exnsphiore

=

Angratens:ogan ASITTENSIT

Lugilg (hignt featness) are @rge taathers of
smgs (remiges! snd 1l A guil contain a shafl
pee siucture. whicn s difarennatéd o
roliow orowmal caiamus and disial sobd
ragches Conents are small lealhers similar 1o
puiilg meants tor filng Gaps an the wng and
j+-18 4

(gchrata char s made ug of many counad
gomiipbon A man with cokiut hindness
canndl iead INBES NuMDer acturetly

Croslam 15 ntermal Dody cavily filled win a
Huios it s ined Dy pertonum and HCDalkly 1S
derrved from masoderm 11 is gitner fadmer by
spitting a maesodarm (Know as shizocoalom
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a5 1N annelids) o A8 oul growlh of Mot
qul (enterococlom as I echmoderms 890
chordates) 50 cogiom (Body savuhy| & founs
petwesn masoderm and endodarm (hooy
wall)

The excralory organ in anhropods are aithar
green glands or Malpignan fusuies [0 some
forms coxal glands are excratary argan The
major excrgiory product of arbtroood 5 e
acic

Amphicnbal  ype vassular oungies  are
concantnc and closed In this type o vasould!
bundle xylem & surrounded Gy phoem
Profosteles or menstales of ptendophytas
exhibit  same  slruCture  whgre  pnipem
encircied xylem n same Dattarn

in & detmus lood chen the detius (6al
animals and plams) are sl a3nr Dy some
insect fungl ang Dactera These ate termed
as deirtivores. These detritvare ane caimn oy
e predator ke Big nsect and  omar
pathogen. The conversion of cead orgamc
malter 1M Simple inorgane form awmck
increase the surtace area lor turtner migrotia
fRachion = known as fragmemiahon wheh &

Sallirsl oY

myjrusealiealicn
858, Savannab ate grasaland wit

and shrung MO IS

HEALNINg - TG ALI —

wiAlaian rens
atIER Gt

found n Indi  Non™ Ausirdiia ganieal and
Southan alnce neluchng east cenhiral Jouln
'E‘i"""-:l‘

58, L, ~somn atg it msphatase an
SO Mydrahiic engymies . gh comant B
aco plgy & mporan e OO

Progtammed ool gaalny and agerg

60. A Oral contraceplive [hio semion o
an FSH, a.g., Mala-0and MalaN Mala.Cs
corungdGAhEan  Whersas Maig-h s

Qe free to 31 datven fiom governms
Sl TN T

B (UDs Srowart tervinng rrEmeEn iy

C Implant/Morpiant apsu [Hanes

JERse nOrmong Slinwly

SutiGally \NEC: 3kl
ihal Slock valatinin

D vassctomy and lut#ciony 8 Semang)

General Aptitude & Current Issues

Botany 15 the oranch of sciEnge which Jeals
wilh the sludy 0 plants Simiiarly. entomaology
15 the branch ol science which deals with the
study of insects

(gl

The series is coc bbb aaa/cos Don aaa

The terms of he senes arg following (NS
pattem ot 2° - (3" -3 13 - F 15 -3
B -7 =30 -3

Only son of woman's grangiatnes-woman's
fainer man's brathar's fathes.man s later
So. the woman « man s sisiet

ir terms o macks abiained

Mukesh < Baju Saju < Priva Gauray « Prva
Kavita ¢ Prya, Gauraw < Muesn

Since Gauray s marks are not Ing Iowast s0
Kavila's marks &1¢ tha ipwes!

Sequance DECCTIES

Kavila < Gauray = Musegn < Rap « =00s

Mg Q1 coniracennon & e and gl
fesmEthvaly
iedny i the  deacintlifig  Ofcee “.‘I;'-

DELIITES BACONS
B2. TRANSMIT canrd) ot Ly the @tiers of

fre Qrien word Aue to the GLsents o et
I.i1
83.
2 5 8 [
.'r ' TI T
L._._l [ _._J I__ .] 1 = —
.7 +3 -5 =g w7
1 1 | 1
' ' JL _I .
+1 -7 v *f
l [l [
l 1 |
x2 xg X
B4. 5l -J3R=-B-6=Z
s :i_ = \.?_5 =0-5=4
\_'-"'_.. \'I'EJ;'I‘_-q 1
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B85, The movament of the man s showe n the

figure Dy

o N
B
A (starming pomi| E.

BB, The movemant aof Ashigh 5 snont Balo

A*Swrﬁrm povnt
50 m ]B
Lﬂr-
|
;
D- !C
50 m

It & crear trorm the hgure (hat Asmish i 40 =
@y o e Rlarting poard

BY. Sunia has 4 vary Busy schieduie Thy maant
that sha 5 ngusinous But stll sha fings ime
bor rest This means 1hat sne is an oaogensed
person SO poth conglusion | and il olow

91, We orareciaskad the watchrman snoulo be
ufed ay (he sense showe ordee

92. The everl shows past Ime Hance Cast
indgtimts houlg De used Hence last night

dream! should be used
106. L= e nLamnpers ba
A+l ae2 X edn+d s 58000~ 6

P b k=g +2F=d
wls = Al (g =Bl o=

Then = w20

7

=Mt =m7a=714
cLargest number = &+ §= 23
107. 3 vz Y343
ICM A 326a=12
.

Wil 7 < ()" = {4%"1% - ospy
g =P ‘=25 T - gal
Va3 =8 e

Y8 =15

108, et rEnumbers ps s and ¢ Then - « =

¥

5 B
=y ;E;.
MNow x = JE=dy = 0 = ":—3-?;1
25
T o
= — ru35K= %T.E]szs

SECDON NuITITNT

g B
Yo — l{-:' - ‘:2?:‘] = A0
25 25
108. Suppasa thal on dwing the given aumber
by 342 we get quotent =& BNG TRMEAINDE
= 47 Than
nMUMmoer = 342 2 o 47
=118 x 18R+ 1B=x2« 1
= 181184 =21+ 1]
30 the numbe when draded bty 18 ges
ramainge: 11
110. LCW ol 5.8, 7 8= 840
s Hefueres number 5 of the lorm 440« - 3
heast vage of & for which B4k « 1 %
duvnlety Bk =2
cReouired numbar = (840 « 2 = 3i= 1683
111. Ratc o tme faken by Sakam ano Tanys
= 1256 100
x5 4
Supross Tanya Takes « days i dn the wors

> = M '-r-r-r[:hzvii_‘ﬁqd:rs

e

Hents Tanya fakes 16 davs 1o compielo tne

112, Aztual phce = 95 % 0190 %ot 85 %ol ? 12000
fes o0 8 . ]
=500 " 100 "7 " N
AT

113, Lo ihe abeling price De ¥ 5 Then
{95% O a7 B0 %0 A= 1500

=y 5% 0ol x = 1500
L) J:l‘i—fvaﬂflxw
114, — =é=2--—'.‘.'="'.,r- S
A L "4
= By = 2k
2

CHRISTIAN MEDICAL
COLLEGE VELLORE



CHRISTIAN MEDICAL
COLLEGE VELLORE

CMC Vellore (Medical) « Solved Paper 2013 39

115. CP ot 6 totlees = ¥1

SP 0! 6 offees = 120 %0l T 1= 2

o

e
Fur!'-':' ofleas soid =G
For?1, !dimssold:(ﬁx g];ﬁ

116. Let CP of each article be ¥ 1

Then, CF ol 50 amcies =T 50
SP of 50 amicies = T 40

me_[;-gmm]%seuw

447, Let the incomes of Aand 8 ba T 5x and T 4x
respectively and let ther expenditures be T 3y
and T2y respecively Then,

Ex—aruimﬂ 1)
and dx - 2y =1600 {n)
On multiptying Eq (i) by 2 and Eg (s} by 3 andl
subtracting, we get2x <1600 = x = 800
sAsincome =T 5x =7 (5x 800 =T 4000
118. For 9kg zinc. muctura meited = {9+ 11ikg
For 28 8 kg zing, mixture melled

= [% xEﬂ.B)kg = Bdkg

119, Let the speed of the maworooal in still wates
be x km/h

Then, speed downstrean = (4 + 2)km 1

Speed upstream = (x - 2)km /1
6 6 33
X+ 2 5 £ =2 qﬁ
= 1107 =240 x =44 =0
= Ma* =242x +2x - 44=0
= (r =221 +2V=0
= i=22

idence, spead of molomoal in sl waler
22 wm/h

0= 1007

120, Reguirad SUM = ——————

2 sirect S e

184 x 1007

B 220

3 3
_ 184 « 9% 3% 1000000
T 02 % 4% 1000

P =T 13500

F=




